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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which of the following is the condition to check a is a factor of b : ;,ﬁ';‘j,r"_}gb’b ¢ Efrl;.JL?gd?';de!(;. e 1-1
b/a==0 (D) alb==0 (C) b%a==0 (B) a%b==0 (A)
If there are three return statements in the : Jﬁ v EAREITIE SR L'Jﬁfcfufdfwtﬁ/ﬁ 5
function body --—- of them will be executed : )
Firstand last 7 Tnfdﬁ (D) Three ¢= (C) Two 2 (B) One LI (A)
Which of the following is a valid line of code : e mra IS W | 4
char='A"; (D) chargrade="A"; (C) float=34; (B) < int=10; (A)
An array is a - structure : _ r\,j 4 j: v ..._fir_.)l 4
Conditional b3/ (D) Data ki (C) Loop ¥ “(B) Control Js& (A)
LN N
(2‘ |JJJ) i ;_i,l-. b ]
z \\”_
& (2)
In C language character constant is mtten;yithln ret ‘gbﬁuJ,L:‘ﬂfﬁ ﬂw""’ 4 5}-{/ Ll £ v
# (D) <M ©) B R
What is the output of the following cadé : PN AV S SO
int m = 80 ; ) 6
if (m=> 70 && m < 80)
printf { "Pass") ;
else
printf ("Fail") ;
1 (D) 0 (C) Fail (B) Pass (A)
A software that facilitates programmers in writing e rlk(% L‘a;uuﬂ'a.ﬁﬂ/c/}ggf:fffj,gﬁ YIS L
computer programmes is known as : ; "l 7
IDE (D) Editor 441 (C) Debugger /i (B)  Compiler LU (A)
In this function intis a : . : Liﬂtuﬁdﬁ&i
int msg () : 8
printf ("keep it up") ;
Return type Az, (D)  Body J35L (C)  Parameter 4z (B) Argument o) T (A)
---- part of for loop is executed first : : c{:.Uﬁ:!:.‘.éa...,./ﬂ._.. B’.,._.Jfor
Body Jil (D) Increment/ decrement d//.ii.-'ﬂ (C) Condition b/ (B) Initialization /=% %41 (A) 9
What is the result of 13+21% (41-20) : g ‘,:_-_.__,Igl_,.f ¥13+21% (41-20) u*-f/;’g /
12 (D) 13 (C) 10 (B) 34 (A) 10
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

A float uses ---— bytes of memory : ;;_rfdv'i-i&’g--“w»f;,ﬁ.g 1-1
7 (D) 4 (C) 5 (B) 3 (A)
- is a software thatis éugxsicg.fgﬁ?"dtal‘a;fdfuﬁfé lf/""{iJ('!/é{:?‘L -y S P ETS ( —. 2
responsible for the conversion of programme files to machine understandable and executable code !
IDE (D) Debugger.#; (C) Editor 24! (B) Compiler )'L_;r (A)
What will be the answer of following statement : NN fm._Jﬁg Koo Jitos 3
floata=10.0/4 _{02)
10 (D) 1(C) .25/(B) 2 (A)
.u“\_..\.'_j"-l i|'| o & 3 -
The operator % is used to calculate —: RSV mdwz';_f LSt r[{:f..;_.% 24 &
Square {7 (D) Factorial Ju#' (C)  Remainder ((.3). 5= (B) Percentage & ¢ (A)
S TR N
l2)
What will be the output of the following code ¢\ N c el s T b
AT i (1>0) eS| g
~R~ printf (" 1 "):
XV~ else
printf ("0");
Conditional logic helps in ~—-- - PNy SIS~ . UJ"-,J'
. | , ‘ L 6
Reversing _ﬁj_f,r (D)  Traversing ...f:-.:;_'/ (C) lterations s/~ (B) Decisions (s’ (A)

——--part of For Loop is executed first : P Dﬂz‘:_, il ¥ For
R S . T N

Increment/ decrement d’ / 3l (D) Body (3 L (C) Condition 5,5 (B) Initialization u"gf 1 (A) !
---—-make it easier to read and write values in array e blrgl Tl:ﬂ*{:sltafﬂuﬁd_;lc_, -
Functions ;G (D) Expressions /”f-/;."-"-ll (C) Conditions J;'i[,f' (B) Loops (=# (A) °
The advantages of using functions are - - U —ee 19 Lfdl-t:‘hry-ig
Compiling _C"’L;f (D)  Printing ..ﬁ'.; (C)  Reusability dlﬁ‘bpl_. (B)  Executing J::..(f I (A) ¥
Function input is called ---- : : 4"-‘-(3!1:":'-— %U’Jﬁtﬁ

Identifier 76(54'T (D) Function signature ,m.iuu"'ﬁ . (C) Return value :;L:L-J}u (B) Parameters ;15 (A) L
217-024-II-(Objective Type)-10000  (7832)
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Note : Four possible answers A, B, C and D to each question are given. Thg c_:hoice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that guestion.

Readability help to - the code : ; ‘T—&’i“"c‘g'/"" fileeibli2y 11
Allof these (U (D) Debug & /i3 (C)  Modify L /b4 (B) Understand 2 (A)
An if statement inside another if statement is éilé& _'] Dbl eee /:;f::.?m.:f:—"f if s Ld1 e if 2
structure : :
Decomposed 5}3{;:3 (D) Repeated i, (C) Boxed if L (B) Nested 4+ (A)
v NS .. y v SF
A set of multiple statements enclosed in braces is called a : r‘Eﬁ W{’Lﬁ" b’_..wul_-m_uf 904 3
Job —2 (D) Block i (C) J,.___.;---\".-."'a,f'i‘JL"SI"’J (B) e Ji Sl
i - s ,f‘\“:\‘/ :
e LHE/23
----- part of For Loop is executed first - O e ledio o Ky F
0N 4 T M gt R
Body PTG Condiion  ¢*if (A) 41
Increment / decmmt di [ 3L (D) Initialization o7 141 (C)
Which of the following is not a typéﬁ?éberator: : c..gj’*?‘j J:F/ TJJ:E:, Lt
- ] Bl - P ) b? = . ) - ul"
Rel_ahonal operator s ’L,}'_A} (B) Arithmetic operator /*:../'I'.Mi (A) 2
Logical operator ;:,;l:.E'?U (D) Check operator A2 (C)
- means 1o transfer the control to another function - : r_l:/r/""jl}g,f.'.' uﬂ:';;sl._ﬂds }J;l/‘:.
Including L/_fE (D)  Rewriting _ﬁ’bdx (C) Defining hﬁ'lﬁ;i (B) Calling ¥ (A) °
A float uses —-— bytes of memory : i t'fdb"‘lu'b'fr. Ldm’ Float
B 6 (D) 5 (C) 4 (B) 3 !
The operator % is used to calculate ~-—- - Letndeid L0 G Lok =/ TK Y
' _ - s == S °
Square &/ (D)  Factorial L,_’:.u’? (C)  Remainder ((/3L).4x (B) Percentage & # (A) 8
Using loop inside loop is called —- loop : : e bbli_y J’I‘Jb-}lbif'ﬂ L
3 e e i e
NESTED (D) DO-WHILE (C) WHILE (B) FOR (A) 2
- are the values that do not change durin the whal NEAPY o }
execution of program : y WORERE dxﬁu_'.e-ulmﬁﬁ;i_r'i)f{; s J"“ 10

Comments _«ineS (D)  String ..f)* (C)  Constant 2§ (B) Variable J™(Szs (A)

16-023-1-(Objective Type)-12000  (7835)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

Single line comments start with : : LELJ?CE,}MJ”& 1-1
*II (D) Il (C) I (B) [* (A)
Which of the following keyword used for store integer - :;_rtgl_fUWL;Jvuléé L/C:"i/.?ff&?,a.ﬁhi 2
data type: .
void (D) int (C) char (B) float (A)
Which operator has highest precedence among the following : r}%ﬂl Je s Cj }Jﬁ-{ TL)/ =By -0] 3
== (D) Il (C) o= "(B) () (A)
Format specifier % C shows the data type : | F”;\w, - ;LJ:%.J?DJ/JL’;,; % C }Lif:r:,.pﬁ 4
void (D) char {€}.~ float (B) int (A)
P I ~Fo>"
o) (2) Lt V. e 2R
A set of multiple instructions enclosed md;?abesﬂs : .:'_I:'il;f R .:.-_rb"..:-.-y,g-up.:....pkdwf’; £ 4
called @ —--: A m, -
Job 2 (D) (i) Box L (C) Block /1 (B) List = (A)
C-programming language also provide -—  : c:_.fﬁdﬁ"ldf%,j’ St gf.cCJb}*c‘:/ﬁnU/u:f/ ;@.ff'l)j{..C
structure to _deal with conditions : 6
Switch case J-'r ér (D) Loop ..,‘_.Af (C) Functions /-';'C' (B) Tree §7/ (A)
Which one of the following is the size of int arr [5] : : fﬁy/;:bb/int arr [5] 7
5 (D) 6 (C) 2 (B) 4 (A)
An array is a —--- structure : : .‘g_/{}' SR« 20 8
= » =
Conditional J=% (D) Loop o+ (C)  Control 1 (B) Data &5 (A)
- means to transfer the control to another function : i z:_l:f/‘"j liﬁgﬂ'{rﬂ_‘g 5:';1/4.. -] g
Including £ 3581 (D) Rewriting &1L_(5s (C)  Defining & &5 (B)  Calling ¥ (A)
How many values return by a function : : %Eﬁfuﬁ,ﬂﬂ,&;;_”ydﬁ;g 10
Three g~ (D) Two » (C) One I (B) Zero 2 (A)

217-023-1-(Objective Type)-10750  (7832)
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There are --— types of control structures in BASIC : \g.ﬁ.v A ‘&..\ U L ﬂu Y - 1-1
Five &, (D) Four & (C) Three ¢ (B) Two 1 (A)

A user can define the function with ------ statement : “ml S & @3 QQM e e 22 9

DEF FNS (D) DEF FUNCTION (C) DEF FN (B) Define Fn (A)

The output of function INT (-5.7) is : e L\...rvmﬂ Q\ INT (-5.7) Qw.h 3
5 (D) -6 (C) -4 (B) -5 (A)

A - is a sequence of characters enclosed in a double quotations : ﬁP.r\.m.m%\c..ﬂ\%CuC.\ww\ € Prci v (ﬁ..\_ 4

Statement 5 (D) String (ﬂv (C) Constant number \htfm\ (B) Variable me..qu..v\m.v (A)
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AL /b.-w'dtbﬂﬁu..a!?ufmpﬁu;/btﬁ{.mb&dlrﬂ{tél'dle ..uh‘.’:{_an 24 C «B rAHMkwff /'.'U'f
_ﬁuﬁmwm‘,:ML/J..anmmum._{ -7y A |
D | C B A Questions / =l JF/:} I ,
Af{ s o i - L;lrd'{ﬁﬁ J“}:’ Include! 1 |
Print Comments Main Header Include statements are written in section.
prd - A UJ’E +wblﬂ"m&£uﬁf7‘uﬁff 2
Collection Variable Jar Box can be thought 54 container tb store constants.
& V2 G H €¢ ) .\g}'ﬁdbﬂé.&.&);@’ % 47| 3
Square Factorial Remainder Percentage | The npégéldr % is used to calculate;
K& | i | 0P g4 | () e A AR 4
. . o J U Uy
Logical Check Relational Arithmetic | tfh t £ 2
operator operator operator _operator ./ V{!u "WHS STpe ot operain
)i "
i N N U)fiﬂi o alwl éwﬁ;—?‘f IfElse| 5
o () O | s e 37
R In If Else statement keyword If is followed by a- cnndmon
£ “"::.. ms-lde
. o -
JHE SR S N e bllggﬁf}:(uﬁ'ﬁ?l);ws;{ L 6
' Which control structure execute gram ts i
l Sequential | Conditional | Repetitional Relational md;f? = » ISR S
ﬁ’n_*a;,,i:d"( Pak 2l e 0| 7
4 3 2 1 for(inta=0;a<3;a++)
printf ("Pak");
How many times Pak will print by using this statement?
a 2 1 0 -t inifm% Lo )| 8
; The index of first element of an array is:
J 1w Jil b7 Ol 'i'q_D{lZ';--rf.ﬂ?Uf(?ﬂ for| 9
lg;cmg:;: Body Condition Initialization | Which part of for loop is executed first?
L1 B L Bl PR ;‘;‘fﬁf,,,bg;,g;/; 10
Including | Re-writing Calling Defining means to transfer the control to another function.

1019-X123-35000
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A
1

A—,‘f"""

D C B A Questions / = Uly JP/',i—l |
= . - - i - vl b " _i
VoA | e | e | S e bl VL L S b i o]
Analyzinga Searching a Dividing a Divideand | The steps to divide large problem into small problems is
problem problem problem conquer  |called:
HKig o8 (g Jud % t'/f'lﬁfb._f IZe S %’u’y 2
3 A isa blnck qf lstatements which performs a
Parameter Function Program Computer particular task. _
U B sl A IE_, A = Llf"}%-’éli-'L"—-’c U.M_,‘L_Jrufu,a:”w_,f 3 i
RS2 -g_,_!_‘f/ w2
Both "A" & "B" Before After At the time of, Tq ﬁ;ttalm the array in a Smgle statement, initialize it
] \ declaration.
'-""I’ o "“' ' o ""L ¢ « o .q:.tbnéb/\lunﬂto‘&"’pﬁr_ﬁc.. 4
Function Expression Condition _~Loop. makes it easie ad and write values in array.
UG Jif Al Ja)-‘fd"-;ﬁ A e S| s
Check control R:gm’;’“ Selccnnm] S Sﬁ;?;:al Whichisnota WPEOantmI statement? ——I
- _-wMJ:/J(D sEEC 6 |
7 5 3 2 Thereare ___ types of control statement in '
C—langua.gp
SR | 0BG | Jipliiad | gutt C e con BTl A L@ | 7
Noneofthese | ta U | gl otd &uf | Whichis true about C-language?
All logical o YU C is not case
operators are T(‘ v can sensitive
binary operator gﬁs&d o language
: variable name
ATy . s e GHA | 8
None of these Which is a valid character?
A 2 ‘s A eyl el L1 st 9
Collection Variable Jar Box can be thought of as a container to store constant.
5 @ . - BN T /A L5 SeniE ) 1
‘_ | _ For initializing a variable we use operator.
1020-X123-30000
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e BN A ene S ML st L g g JEYI2 ~SELED 4 C B ANZI L
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A
1

D C B A Questions / = Uiy A-"/.)
What will be the output of this code? SSnl/easT3n| 1
intadd (inta, int b)
6 5 3 2 return a + b;
void main() §~
prmtff“"h’i" dd (3 1pl))
} ol
=1 N7
4 3 -z l (\\\ / -D:/UJU}"-" l}[r.i'ﬁ'—- Uﬁlg 2
ﬂfumﬂmn cannot :g.tu.m more than _. values.
(_5..-!}‘ Jq;if ik Aflﬂ.u;{ \ f‘:}u -{ﬁl- @ /-‘G:U’r"uﬂd//"ﬁuﬂ“'c 3
) The functions which are available in C standard library
Repetitive Recursive Built-in Usr;ruﬂefnud ardcalled: 2.
s ~) \'. 4
Do-While while (47 For P Y g (VoS VE
Nested SN Using logps msrde loups is called loops.
.0 13 0.9 g N SnbiS A mIe 10 Ak ]| s
' lfsiéﬁanay is 10, the range of indexes will be:
. -q-dh':?/{/u’? _,L-:f‘:’cfgfdfsuﬂiﬁw'a:g 6
Complex Infinite Dual Nested | A selection statement within another selection statement
is called selection structure.
I R N e FA |
Array Selection Function Relation Which is a control statement?
L O e _g_l'ﬂdlﬂ’lﬁ"/..'x‘ﬁﬁ' Lﬁé:@C 8
' In C-Language is used as statement terminator.
e _ za i ?ﬁ'_.tﬂdb-;l{;ﬁﬁ/‘:.;ﬁ.’ﬂ(v%{ﬂjf 9
Which operator is used as assignment operator?
/-(Lfi KAl /‘i{ 2{.?]19(5_%2».&Lﬁfﬂ/ﬁ{{)ﬁ{ﬂf{ﬁﬁ:ﬂlﬂhﬂ 10
DE ) ) A software that facilitates programmer in writing
A debugger An editor A compiler | computer programs is known as:

519-X122-35000
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< B IAIIAIWE e LU Ese g QY12 - ELED 51 C B AAZEN L Dy A
-&r%lﬂuﬁuﬁwi_fﬂéﬂuyuﬁhnpauﬂ -7y A
D C B A Questions / = Uly J?/.}
o= SR o J* Se Uitk e e | 1
Relation Conditional Repetition Sequential | In C-Language which is the default control structure?
LAl S Jou S P _?L-,ﬂm,}gﬁf_l SR Gl 2
Arithmetic, - : ; 2 iia P T =
P, ;I alrg: [l:gical Logical Relational Arithmetic | A condition cau\’bﬁgﬂy expression.
o Se ot dAlyT 2 scant] 3
$ ; % & It#a very common mistake to forget operator |
in'the scanf function. .4
unsigned int char float int;‘,:rb;\;;f’ “I"_’r"“-}l}"lj— ":&‘-‘ﬁtﬂ___ e sl getch()| 4
e tgeteh() is used to take as input from user,
=y Ve F o (O e e fE 7 Include| 3
Print Comments Main ([}~ Header Include statements are written in section.
- g . .
o P 2| g bl Lo b SR S Lkl | 6
~ : A block of statements that performs a particular task
Loop Function Constant Variable is called:
What will be the output of code?  :Ssrset3T63n| 7
2 l Il2l| Rllt VOId ab.c‘ 0
printf("1/n");
w7 o g St In function char is: ‘¢ char (& uE‘G 8
chared ()
Argument Array Return type Body { return 'a’ ; }
Lf'rﬁllfr_)l‘ Pl rt!’:_;l st 3] -?EU'?KLJE%&BJ)‘Z&“ 9
Array index Array size Array name Data type is the unique identifier used to refer the array.
2-102 L-100 0-99 0-100 Sl aiie100 Ak afi] 10
If size of an array is 100, the range of indexes will be:

520-X122-35000
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L R e e U whd il Jir 2 ¢ 36 iz »L,g;_f.{_;D;;rc.B.Ag,ygj,bid,’,ﬂ i
K x el |7 nJJ&Lf:u:dJ"JLf-é/r&g!:d‘—/éfdjﬂ: u!:.}c'_a...g_ﬂ";/f‘-__ U.E;LJGL f';h:ﬂ;. J_}'lﬁf

1. 1- 'include' statements are written in section. U Ob d{,c B3 it include' -1, 1
print 4z (D) comments (C) main ¢~ (B) header iz (A)
2- are the values that do not change during the Wiy L :g L rl/g{ ;?_,-Q.' u:‘-’ 84 -2
execution of program. SRy -V
comments (D) strings f}r (C) constants = 5+ (B) variables =12™ (A)
3 - The expression 13%3 has answer & A2 € 13%3 J’,{rj |
13 (D) : 5(C) 3(B) 1(A)
4 - Which operator has highest precedence among these 5_._4:;.:4—, - 5} Jaeidve Sty -4
AL O «
I (D c OB « (A
(D) <(© S )
5- An if statement inside another if statement is called C}\g&@\;fﬁlﬁ}, Pt i L L oW N s
5 ‘:\ L
data L3 (D) nested 2 (C) ?r,e,fpfqatéf‘i (2hz99) 2 (B) boxed i-% (A)
OIS '
~\ o .
6- Whatis the ouput of following code? ﬁ\-\?o 7 e WendTd WWhitn -6
l"t"\ I'_/ i
int x=3 , y=7: A A\Y y int x=3 , y=T;
. y (l.:ﬂ(, Q) . y
if (x>y) R / if (x>y)
printf ("%d" x); R / printf ("%d" x);
else QP / else
printf ("%d" y); printf ("%d" y);
1(D) 0(C) 3(B) 7(A)
7- Anarrayisa structure. ' =R ﬁ,}___ Hed -7
conditional Ls,;‘ (D) data L3 (C) control Js}f (B) loop ..;:' (A)
8 part of for loop is executed first. fe. Ut & o o U A for -8
initialization ¢/*7 (K1 (D) increment  JL! (@) condition =i (B) body (3L (A)
9 - Function could be built-inor _____ -t £ x SR 1 0 1 u‘c’ -9

related defined @) server defined %@} ny (C)

one value = L (A)
three values (2% of (C)

10 - A function can return
two values

many values

121-(1)-18t A 224-29000
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COMPUTER SCIENCE oW« IT ol JF b {1“A 224 - 1V) S
Time: 16 Minutes Paper:11 OBJECTIVE -~ Mgy w15 O]
Marks: 10 . Group:1I Code: 7838 &E;’/r) "M '1"’;' 10 : J(I.

cf....al.f?...-tu.:-_.u:;Jubcfc.Jd.LrLdlr;zQde? gL ZisDsCeB. A._.aLi.?.f;lp[.JFr/ o7
B e IR ol S HJ!‘JL-;.&.;MELL/J;IU}/I) uLJc..._f 25 /"‘r_-q_fl./rl. :(a/F:.WJW

1. 1- Afloat uses bytes of memory. 2= S e ‘,r"g J U .'.fﬁ.._i;'i 1.1
4 (D) 3(C) 2(B) 1(A)
2 - How many types of control structures are available in C-language? St ﬁ'.' LJ:,‘-"L (JL;’/VL’ E::@ C =2
1(D) 2(C) 3(8) 4 (A)
3. How many types of loop structure are available in C-language? ;{4 AL (jdfuﬂ t&c -3
1(D) 2(C) (B) 4 (A)
4 - The person who knows how fo write computer program s b Laﬁrl/(/ .r:'fr.-_. £_/Bh..«'.ui” u";w -4
correctly, is known as . / 'S = bk
designer Ay (D) manager A (C) operatg( \\%{?‘ (B) programmer 'n/ (A)
t

5- means to transfer control to another function. t//f‘l/u* u'C’uF ..f J:/ﬂ/‘:. -8

defining s (D) including L8, {Q)L — %) calhng {1 (B)  re-writing B (A
\«@"

6 - Which operator has the highest precedenfé@dng these? fem i e o (';’} J;‘:-:Tf.;. Sl -6

<(D) P & *(C) = (B) - (A)
&

7. The values passedtoa funcﬁ‘cm are called e JM.L“E J’Ju‘g ﬂ;"ﬁ =7
return type Fbuza (D) body ($3t (C) arguments u"‘}"i (B) defining i (A)

8 - What is the output of following code? ‘.’Jy: L;J'_u;,:.,‘iTJ Wkt -8
int p=20 , q=2; int p=20 , =2,
if(p%q==0) if(p%q==0)
printf("Even"); printf("Even”),
else else
printf('odd"); printf("odd");

2 (D) 20 (C) even =2 (B) odd JW (A)
9. The expression 16%2 has answer e IR ¥ 15%2 ﬁﬁ{l -9
13 (D) 7.5 (C) 7 (B) 1{A)
10 - structure allows repetition of a set of instructions. D Liiphafedl sy - 10
- bn S
array < (D) loop .;:J (C) data LJ (B) selection Ja’ (A)
122-(IV)-15t A 224-24000 L
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COMPUTER SCIENCE (New Course) ((% U« I1 &y JFSLE) 18t A 223 - (1) (W) S
Time: 156 Minutes Paper:1I OBJECTIVE - (% I gy &2 15 1
Marks: 10 Group:I Code: 7831 ..rx; L 10 :u{ul.

L zene Lumd il Jrpgdfdiz SELEIDHCBANZ LN Ly )
E? sl 7 i S S LSS LS4 s ol e 1 - S o LI S o S e

10 -

1. 1- For initialization a variable, we use operator. S gl Al L LS wad
S
? (D) @ (C) = (B) = (A)
A valid character constant is = LA S Z::
c (D) "' (C) 1.2 (B) 12 (A)
printf( ) is used to print type of data. JL"‘"I:.{. i 2 el H’r:' printf( )
: -¢ b
allof these (Ui (D) char (C) ({rq b (B) int (A)
getch( ) is used to take as input from user. TJ‘“ / .i e & ule geteh()
‘ (‘?\““3/ ' e by Ji
all of these (o (D) char {?) ; X float (B) int (A)
An if statement inside another if statement iste\é\_'ﬂg’&*’\v A I 2 i L £ o5 1 )
structure. R / N wigs g
decomposed L‘r,,rd 3 (D) {epg;t;d s (C) boxed A7% (B) nested 2= (A)
Type/types of control stateme‘iéﬁfin“bﬁianguage is/an S rLJ"lh;_ r} J u‘m)’ ds/‘-'f ¥ 6:@(3
4 (D) 3 2 (B) 1 (A)
structure aliows repetition of a set of ingfructions.  &-Ja A 4 fedALl bl 2 /: Ve
-& b Ji1 _A L
data &} (D) control s (C) conditional J’?,if (B) loop ..,J..:f (A)
The size of array in this statement int a[9]; e K dih = int a[9);
-9 (D) 8 (C) 9 (B) 10 (A)
Functions could be built-in or : U £ n L ;_-,J!..z-&;‘-ia
server defined Fadnpg (B) admin defined &5 w4 (A)
none of these ;,ﬁ" 'Jf = ! (D) user defined %3y (C)
The values passed to a function gre called - Jth( u:"‘-J Lifdlu'g fu‘ﬁ
returp types Jé bz (B) bodies il (A)
arduments %7 (D) arrays 7. (C)

121-(1)-1St A 223-32000
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COMPUTER SCIENCE (New Course) (% UtFe T 2y JFLEE) 15t A 223 - (IT) W) S’
Time: 156 Minutes Paper:II OBJECTIVE =~ U‘Sj"‘ Mgy e»16 Ry
Marks: 10 Group:I1 Code: 7834 el 100

L f:?h.-',ua.u'u:.fbi’_’c..)d.bﬁdlr;/géb’l}l.? _U‘ZE_JDMC B« Auylﬁj:bﬁdlr; g
_.E‘J‘?J.?jkuulf u.{f. ...-JJ‘JL.I.{, ub’ga..f.;fuub ul...*:'.-_f i:/c:.-u’lr;f. J(ub,.nh-‘ 5%

1. 1- Afloatuses bytes of memory. -« B U4 Sngadg -1.1

& (D) 5 (C) 4/(B) 3 (A

2- are the values that do not change during -J.»r ;,r:"dji i .J; F sl rt/:{ R Lf‘fu -2

the whole execution of program.

comments yudissS (D) strings }} (C) constants u‘”u b’ (B) variables :-Lf.;:.‘ (A)

3- Toinitialize the array in a single statement, initialize A e\ L LS8t o e s -3
it declaration. S
after L (B) atthe time of ;=% L (A)
both A&B Uss BulA (D) By before ke (©)

4 - Avalid character in C-Language is : f j \*‘ & /‘-"J e e é,@uc -4
none of these u:’{f Sf (D) '9' (C) (%, "~.G "a" (B) "Here" (A)

- A built-in function T Buted L -5

can be redefined < = b g.,rm u[,.!} ’ ’ cannot be redefined (¥ L l_fucf St ks (A)
should be redefined < btk qu’iwj n&L‘;; (D] cannot return a value 0/ ut“' o)y, s (C)

6 - make it easier to read and wqte va1u in array. T byl I:JUIL:""—,J e -6
R -t
functions /_;G (D) e:{i:‘fé%:;ions Pt (C) conditions 417 (B) loops s/ (A)

7~ Function signature consists of ¢ brtar S /g‘; uﬂj -7
retum type 7t/ (B) function name )
all of these (Y« (D) number and types of parameters rL-';n‘ 21 315 JJ}-{L& (C)

8- True option about C-Language is & = Fole L f; &.c -8
C is not a cage sensitive language % B e Y Lic A
keywords can be ysed as variable names < b LU ¢ # Lt & 8 L3-8 (B)
all logical operajors are binary operators Ut J}.{Tdf'{. Jﬁ{fg);?ﬂ ¥ (C)
none of these FEWe L D)

9- helps to determine the flow of a program. - SRV - qul;b’ S £ rl/;..; -9
data Jucture Arts (1) control structure £ > s~ (A)
program control (Js * r!):{ (D) datacontrol  Js2 &3 (C)

10-  Types of control statements available in programming are Ut e el g u‘;‘? S AL ..1"3!/:.; -10

| 4 (D) 3 (C) 2 (B) 5 (A)

122-(IT)-18t A 223-27000 /
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COMPUTER SCIENCE (New Course) (¢ Ui I1iy JEGLE) 222 - (Iv) (u:-;() Wal >

Time: 15 Minutes
Marks: 10

Paper:11
(Group:I)

L e e 2 uih £ el Ll d!r; ¢ Qr L'}l'f.
Ko 4l —l2 osfi e ‘.".-J:"J.H_f.;' /ru'.-b/L é_.rr‘é J’/UJ.?L! wbic g ey M el S S s Sl s

1. 1- Thevalues passed to a function are called

arguments U757 (D)

2- structure allows repetition of a set of

instructions,

dala L) (D) control  J; & (C)
3 - Inif statement, what happe_ns if condition is Yalse?

index out of bound error

compiler asks to change condition

OBJECTIVE

arrays y4 (C) return types u-ftu,é;{sy

U Tz eri15is
837 QU T Gl-22 (Sl 10

.;_,gé:LJDqu=BrA-:pW:-stl;r:J'fﬁ g0

-

Code:

R

HEIEn S
bodies il (A)

i nSe sl il b L0
—¢ b JiE1

loop ¢ (A)

S bot Ui S RNt 2P g

«te Lk (A)

e ETop 23y ST 23T 5k ()

& &SI ¥4 KAL)

further code executes el (e ;‘)’J{. (D)

-

conditional 4~ (B)

program crashes

4 - __ relational operalor is used for equalin - bw = ;‘:E.,r,:u L {;,ﬁ-‘u'.‘;:{T =%, -
C language.
>= (D) 1= () ﬁfvfﬁfca) = (A)
5 - What will be the output of this code? w5 C—f ‘-‘J.w Wy ._-.iTJ;'fLﬂ -5
: . oA inta
| (:nt add(m a,%h 2
relu, v
Cal”
~VoN
A2 void main ()
,;;‘fif“;"' (
L~ printf ("%d", add(2,4));
)
16 (D) 8 (C) 6 (B) 4 (A)

6 - Functions could be built-in or
server defined #lj.,- (B)
function defined 2w} uis (D)
7- Ifthe size of an array is 10, the range of indexes

will be
0-9 (D) 0-10 (C)
8 - A set of multiple instructions enclosed in braces
is called a :
box % (D) list o) (C)

9 - A software that helps programmers in writing

computer programs is known as
IDE §i$3dT (D)

From the following

debugger e (C)
is a valid character,
'‘a' (D) "a" (C)

10 -

121-(IV)-222-34000

| .-‘i{géEn___LumJL 28 g
admin defined A°6:} k1 (A)

user defined S*w}.i¥ (C)

S & tf/—fiul?;_ 107K fi 27

1-10 (B) 10-20 (A)
_‘é.ﬂ.kr e Velbobie Sli o7 -8

job b (B) block % (A)
= W g,?l):{ };-,rf.:/I):{ FY-P Lo-9 ‘
- t'U-r(

editor x4 (B) compiler ):kr (A)
- c.-‘ﬂq_,ft::@lf/"{f = K l,ti...w..l?
"here" (A)

=10
IIC LanguEge" (B)
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COMPUTER SCIENCE (New Course) (B Ut IIest JFSLE) 222 - (1)

W.7.7 2.0 . By
((@[5‘)7 Tl

Time: 15 Minutes Paper:II OBJECTIVE - (5 II 24 9 1612
Marks: 10 (Group:II) Code: 7832 4”_4 WUJ L) 10 WA
Y i L!".._.w.ra.JUJ/UJ&.J:.’-V&J":‘f/dElL}L? -u'cic_.JD s C B« Aul'f,f)lvcf_dlr’; e

_fﬂfr‘jbk w2 uJ:Cnu’u;r‘J.L_ff/ru{Ld..j4JrUJ/|: uL.rr.:..‘_f ZE'J/C-JL;‘- :‘ln/b_'ih?urllv
_Jﬁfdyg_ﬁ%f.rl)’{zuﬁ'w"u -1

1. 1- are the values that do not change during

the whole execution of program.

comments u"?((D)

strings /E:»- (C) constants u“.‘?l( (é} variables =12~ (A)

2 - From the following is a valid line of co&e. - ol é‘J Ve S i -2
float=10. (D) line=thisis aline; (C) grade="A' (E'E-) int=20, (A)

3- Among the following operator has the Y Fe o G gl e Ui Siomr -3 '\R
lowesl precedence.

I (D) > (C) fB) - I (A)

4 - Anif statement inside another if statement is j;%,.ﬁﬁ Lo il L L g (I
called structure. ,um\ O et
decomposed i);‘gj (D) repeated ks (C) ”.%3 Bm:ed A3 (B) Nested 2 {A}

5 - control is the default control structure _ >\, -.&“_- f/d:/;yi = éi ¥ f;:CJC d;/ -5
in C language. \ ¢

array < (D) I‘Bpthl_(}i‘l\, =¥, (C) conditional J2u (B)  sequential P (A
6 - is the output of the fgriiomﬁg code =y e ..*.,ETJS;(J_’jﬁm -G
intn {4} *{3.?."5?\3\}). intn{4)}={8,7,6,3};
printf("%d" ., n[3]), printf("%d" ,n[3]);
3 (D) 1 (C) -1 (B) 0 (A)
7 part of "For loop" is executed first. S e Jir o i ¥ o For" -7
body 3t (B) condition b/ (A)
increment/decrement [f/!.jul (D) initialization % 241 (C':]
8- In void main () "void" is - "void" J void main () -8
condition L,-"‘ (f)) constant 224 (C) variable /;’5' (B) return type .,,.r’i.‘u,‘m (A)
9. Functions could be built-in or S E Lyl-ed 28 9
user defined Wiy (B) admin defined £l i (A)
client defined w322 (D) server defined - ¥&}u, (C)
10 - A function can return values. s Sy Ve u;ﬁ‘.{'f -10
4 (D) 3 (C) 2 (B) I (A)

122-(1)-222-30000 .



i Jl's,!._-»*f /;"U
o

COMPUTER SCIENCE Paper:I1 (% U ILeuf JFUE) 221 - () Il ¢

Time: 16 Minutes (Group:I) Objective u:fv/" (..rur be) &2 15 1%
Marks: 10 Code: 7833 ¥T=G /-2 10 : /%

L pene fumdirel L Jrsg Q602 - g L£EDHCeBAYR H i £ Jir s S
e Ll w2 il u:.:u:‘t_r;..;.{’fd-(ki./r.é:(u:fb n:l_.J;,..g_éJﬁr.'_ g{?&/‘jh fa.f“:.'ih"" %

1. 1- The CIRCLE statement can also be used to draw a/an -t 2 & 47 F e e CIRCLE -1.1

PSET PSET (D) elipse F5% (C) box b (B) line o1 (A)

2 - Which of the following BASIC statement is used to s ot Jit o &0k Y- Lx -2

define a function?

DEF NF (D) DEF FUN (C) DEF FN (B) DEF (A)

3~ The out put of the function RIGHTS$("PAKISTAN"3) is -« J.\—,.:.-iTJ RIGHTS("PAKISTAN"3) -3
3 (D) PAKISTAN (C) TAN‘ (B) PAK (A)

4- How many types of array in BASIC are? ) <\£.{?(L5I — bedt i -4
4 (D) 3 (© f s~ 2 (B) 1 (A)

5- Every element of array has its own | ”f ) et SN s Ly -5
structure /( ~ (D) limit %~ (C) '/,:1; ension ut‘..""'f I (B) index ‘_,«E},., (A)

6- How many types of control structure are there‘?“”f\’ Ui SAAS -6
4 (D) \3 (©) 2 (B) 1 (A)

7- A loop within a loop is called t\xlq e QWA L T
Nested loop 9 52 (B) FORLOOP ../ FOR (A)
Simple loop ¢ xl- (D) Complex loop —vus% (C)

8- The extension of BASIC program is - Jn u"'ii{i L{ f'/:{uc..‘- -8
bs (D) doc (C) txt (B) bas (A)

9-  Which shortgut key is used to RUN a program in Basic? il (f Sl J Ll f rl/:{ Sl -9
F4 (D) F3 (C) F2 (B) F1 (A)

10 -. Which of the following errors can not be detected ?Ccuf 173 ):gf? il e e g -10

; by the compiler?
logical error /1 &2/ (B)
machine error _:{Icf‘ (D)

120-(I1)-221-32000

syntax error sl pSalie (A)

run time error J{IF'L*;;JJ (C)
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COMPUTER SCIENCE Paper:Il (% Ut eIl euy JEEE) 221 - (V) II 54 St
Time: IS Minutes (Group:II) Objective ... U‘?f’ (..rur L) &4 15 1oy
Marks: 10 G VJ~6 2-2 / Code: 7838 10 : %

L i f.?urwr;.u’-'u:;b«-’_’a._sd.l.-d:dfr;{cé{dl? u‘éfc_JD.qu B« Auylﬁ.'f)gédlr;; FOT
..f:f;r"’}-k -l BJLUtqu‘JL/.{ wflé../{,fu;ub upx.:...{-é.-/f.:.u,fgﬁﬁ PAS - %

b tnlsfa rE¥JRids 1.1
alphabet <Y (A)

1. I- Avariable name must be started with a

underscore =41 (B)

alphabet or underscore .kl tewil (D) digit &« (C)
2 - Division by zero is - r'.j;)' -2

logical error I J,?-H (B)
not an error uﬁ‘ﬁ;l Jf (D)
3 - Which of the following is not a control structure?

syntax error ) puSalisw (A)
runtime error 41w (C)
e BAPUF e Ly -3
selection \?5;(B) sequence =7 (A)

ﬁ_u-;fw _ el s fMB 2 4

loop ¢ (D) choice ¥ (C
4 - Afunction which is defined by a user is called

string function A%, 7 (B) ”f\w ). numeric function u"ﬁ..f/i (A)
built-in function .;, user defined function u‘a Wiy (C)

5- "RND" function is a N L1 *® RND" -5
built-in function J':U!@\ (B) user defined function ;r‘ﬁiﬂarm; (A)
| furicszon "5 o) string function *F_£> (C)

6 Aloop withina loop s eéiled <.\ - ' bl ABL AL -6
“" Complex loop ?Ju&( (B) Nested loop J/22 (A)
inner loop 4.1 (D) Infinite loop #2051 ! (C)

7- If two or more statements are written on a line Jt J"g' fwhm wblic »lnf A&:-’...Qfl -7
they must be separated by a -l Y- &
hyphen w"fl, (D) comma f (C) semicolon < ¥~ (B) colon  F (A)

8- The statement x(30) will reserve ___ memory locations. -« J/ sy f‘@ U x(30) o g
32 (D) 31 () 30 (B) 29 (A)

8- On color monitors, SCREEN modes areof _______types. .l J 43y SCREEN ¢ Jﬁf} -9
5 (D) 4 (C) 3 (B) 2 (A)

10 - An element of an array is mentioned by its AT il e Lt 210

array . (B) subscript ..:..;}.,..f (A)
name of element rtL o7 (D) object <&LF (C)

121-(IV)-221-32000
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3833 |

( A esiz) - copPindre \

s

COMPUTER SCIENCE PAPER-l GROUP-| bgegs) w5y Siind
TIME ALLOWED: 15 Minutes MTN —/—2Y 15 =
MAXIMUM MARKS: 10 OBJECTIVE (%> 10 = A

L S ek | IR IBIL AR ernanf Ul s el N QKR L s D 2 C B A 2Rl g
You have four choices for each objective type question as A, B, -fn.ujﬂ-rlzwflpﬂ.nnﬂ_fz SoK L LT nimbie

1 4w

C and D. The choice which you think is correct, fill that bubble In front of that question number, on bubble sheet. Use Q.No.1.
marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D c B A Questions /| <uiy Sr.No.
Which operator has highest precedence %
] < = * among these?
e s GV e
Data Nested Repeated Boxed An if-statement inside another if-statement | 2
ks Jt Qs 3 is called:
et e i L e i A
What is the output of following code? 3
te YT MUt
o) y=7
(O™
1 0 3 7 A0 iETTx>y)
R D .
(Y printf ("%d", x);
. ,;:; \Iw*—/ else
B~ printf("%d", y )
Conditional Data Gq\\i"&g(‘) Loop An array is a _____ structure. 4
i TR R o P S
Initialization Increment Condition Body _____part of for loop is executed first. 5
O R R i3 fe- & o et UFEL for
Related defined | Server defined User ﬁéﬁﬁed '}%'dmin defined |Functions could be built-in or ______. 6
Stk by Sty Eusst SEn et gP
Many values Three values Two values Onevalue |A function can return 7
Vil Bt s A etlop PR
Print Comments Main Header Include statements are written in 8
iy diad o Lk section.
uu{fa%fﬁ—ufufé i Include
Comments Strings Constants Variables |__ are the values that do not change 8
oS - odbihaailS - during the execution of program.
_Jﬁufitiuwsf.#irf):{ﬁu}d‘zu .
1 5 2 1 The expression 11%2 has answer: 10
e 26 11%2 FaF

38(0bj) (I TE)-2024(151-A)-20000 (MULTAN)




Number: 3832 |

( (Beslz) - g l

s

COMPUTER SCIENCE PAPER-II

GROUPAII

Vo) i - gy Seid

TIME ALLOWED: 15 Minutes

MTN~—2—2Y

415 = =4
MAXIMUM MARKS: 10 OBJECTIVE L,:;f‘ 10 = /..(Jf
L A ek | SISO L e 2 UL gl S g $HYR <L Ls D il C B A sl L Jip 1 /'.'Ul.r'
You have four choices for each objective type question as A, B, -ﬁm‘lk..atxmﬁudu-.uﬂf.&.ﬂ Jox b Lfiﬂ.}s.‘bu}}r_
C and D. The choice which you think s correct, fill that bubble in front of that question number, on bubble sheet. Us= Q.No.1.
marker or pen {o fill the bubbles. Cutting or filling two or more bubbies will result in zero mark in that question.
D c B A Questions / =i SrNo.
Comments Strings Constants Variables |_____ are the values that do not change 1
oukial ;f;‘-f L PR LS e..l,i"" during the whole execution of program.
_g,fna'.'f‘g,ffi_ﬂﬁéfi):{ﬁugw’gu L
Editor Identifier IDE Compiler Each variable has a unique name that 2
Ad Z6 Sk S$1gadr /':l,;f' is called -
..u_‘.""';( — -:iq..t'.sfrb):’.,gfﬁbjz
Which operator has the highest 3
! % = I precede -_\Jéamnng the given?
RO MY Y
e%\“\f; What will be the value of "I" after the 4
7 8 8.0 'I;’,Q‘/w | given statement?
AN > N PTLAY N SR N~ 1
g \ 7 int i=4+3.9;
Reversing Traversing Itera!iﬁﬁ;:s‘:lv | Decisions | Conditional logic helpsin ____ 7 5
£t »—lf‘Jf-; b}“,‘;h*.‘xf: & sk —aaak & Hd’?:ur
| m; B b What will be the output of the given code? | 6
n el e s WL 2 s
0" " 1 0 If(0 < 1)
t printf ("1");
Y else
) ‘J printf ("0");
nested do-while whﬂﬂe for Using loops inside loops Is called ___ 7
ok do-while while for loops? < bR ___ JEIKadisl A
Random Divided Scattered Contiguous |Array elements are stored at ___ memory| 8
(Res aﬁff‘r Lse / 4 locations?
uuglﬁbﬁ’;‘ _;Lh’bﬂ@:{uﬁiﬁ@;l
Arguments Arrays Return types Bodies | The values passed to a function are called | 9
AT 37/ Uitk 2 —
—urdu B A
Printing Executing Compiling Readability |The advantages of using functions are 10
By Lk B | epmelleey |
S LSS

40(0bj)(¥X)-2024(1st-A)-10000 (MULTAN)




PAPER CODE 2023 (1st-A) A
SSC PART:I (10th CLASS) -0 3

NUMBER: 3833
COMPUTER SCIENCE (GROUP-) (NEW COURSE) (wobd 1) (kg - oo/ ) Uluied
TIME ALLOWED: 16 Minutes OBJECTIVE Lﬁ_ﬁ“‘_ﬂ 215 = 2

MAXIMUM MARKS: 10 10= AF
A | SAh2u3e Sl pdene 2 L el L gl s D 4 C B A R Ldrn -2
{{{M -.rﬁ..lrk.u.ﬂy\ [jf{ﬁﬂw'(;ua.; fwﬁb -&Jﬁﬂy&»ﬂgﬂ@a’)‘d‘m Jo¥ k Lf%uhu}ln—.—{ A
Hotu You have four cholces for each objective type question as A, B, C and D, The cholce ..q/ J.’fm..ﬂtr
which you think Is correct, flil that bybble in front of that guestion numiber, on bubblé shqat. Use marker or pen

to flil the bubbles. Cutting or filling two or more bubkles wlll resuit In zéro mark In that ql.'lnt!on No nrodlt will be
awarded In case BUBBLES are not filled. Do not solve questions on this shest of OBJECTIVE PAPER.

Q.No.1 ' ' A A
(1) ______describes the name, Inputs -.F..Q&LMM;L.L.;MTL:;.;JIst!mLu‘-EV s 18)
and outputs of the fupiction.
(A) Function declaration uﬁ*fw’ﬂ (B) Function call wa‘ﬁ
(C) Function signature ‘,.,.pf.,u-ﬁ (D) All g7
(2) Alistofwordsthat - fd-t’ .nEﬂ.ff}db-'ﬂ{;)ﬁurtﬁaﬂlﬁm;:iWMLa#;ﬁ"ﬁkaféJ @)
are pradefined and must not be uged by the programmer to name. ijqb,-ﬁ'l varigbles aré known as _____ .
(A) Auto words #ul)T (8) Reserved m\;ﬁ:ﬁ;&‘"
(C) Restricted words 5Wisy” (D) Prad,qtlﬂed Words  SWiitd

i G
{3) Include statement s written in seoﬂun u ’ dq_rlgbl{ﬁu‘-"" S22 Include (3)
( -/ R
(A) Header skt (B) Main VC xa _%\." (C) Comments u‘i'/ (D) Print 24 R

(4) Symbol of iogical AND opertion {* e el AND S @)

(A) & (8) B& © | O
(6} Which Is an escape sequence used in C-Language? T.;.Se‘:;uenua ﬂ.cl..f nlﬁndt-‘llﬁfn@ C Lol Sy (5
(A) \n (B) W ©wa ©) Vo
(6) In an If statement, block of statement is written Inside e tbblsl LML pat @)
@) {) (8) {} (C) [1] "
(7) What is the output of the following code? ' TL{H?‘“J‘JJ”J 3 St )
int x=10; ' int ®x=10;
if (x>10) if(x>10)
print f ("Wrong"); print f ("Wrong");
glse alse
) print f ("Correct”); print f ("Correct");
(A) Wrong (B) Correct (C) Etror (D) No output
(8) mlakee it easler to réad and write values in arrey. _4.t:,r'rwb-th &Jmll:-z..;"!::.r.xl;..ugf e )]
(A) loop w? B (C) H-else VR (D) nested if If 1
(9) Is & unique identifier us# to refer to the amay. .ﬁéndwg.f. o z.i.wwgr-"_gi . ®
(A) Data type 4! fray name (tési (C) Aray size Fi-Hes (D) None 0y
(10) The values passed to a funcﬂbj are called 0 1 ol do)

(A) Bodies !\ (B) Return type ks  (C) Arays 2 (D) Arguments LT
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NUMBER: 3836 SSC PART-Il (10th CLASS) ,ﬁw

I
COMPUTER SCIENCE (GROUP-I) (NEW COURSE) (obd ) (1 - o) S

PAPER CODE

TIME ALLOWED: 15 Minutes OBJECTIVE (4w 216 = &b
MAXIMUM MARKS: 10 10= AS]

Aok | .Giﬁ}bw&lhﬁ.r-l.ﬁwdf-u: U s e g Q60 ST Eos D 1 C (B IA eprlbleliy w2
cogdrt Kl b S o4 sty sl etz S LS SN | LI A Ieatl &
Note: You have four ctiolces for Pau' objective type question as A, B, C and D. The choloe - -;{/':m!‘"):;d-lllr
which you think s corra?t, fill that bubble In front of that question number, on pubble sheet. Use marker or pen
or more bubbles will result In zero mark In that question. No credit will be

PAPER.
<1 /,‘Uir

to fill the bubbles. Cutting or ﬂlllqg
awarded In case BUBBLES arp not filled. Do not solve questlons on this eheet of OBJECTIVE

Q.No.1

(1) ______lIsthedefauilt oony:rol structure In G-lapguage. 'HI’I“U’ )’wl&:hﬁé B o - 1)
(A) Check santrol LG (B} Sequential control Uy®” it uus
(C) Relational control Ju* izl (D) All these (e |
(2) If the size of an array is 100, the range of indexes will be ____- -Jn (_:};;i_tJJ hbiae 100 kel @
(A) 0-99 (B) 0-100 {9)“1’1’55"/ (D) 2 - 102 |
(3) How many times the word *Pdkistan” wul be printed by fouomniéué? s'rg.f.y{;;f "Pekisten® & WLies, | (8)
for (Intx=1; X <6 x++) ,?\; '/’_/ for (|t x = 1; _x <8 ,,f4l.+|..
printf("Pakistan”); - <)Y printf("Paklstan]);
(A) 2 (8) a,’f ©) 4 ©) 5 |
(4) A______isablockof statament‘qﬁgiuﬁt.:ﬁ;ﬁ;frns -ﬁ;narvwrdu.{m.;.../w_ﬁru‘” T
a particular task. K~
(A) Loop (B) Airay &l (©) Function A (D) Al these Uy
(5) a function means to transfer the control to that _4_:,f}-‘|)d,)f,[-f$ B () — u“a (5)
particular funotion. .
(A) Coding £/ (B) Calling B¢ (C) Writihg «£1/ (D) All these U
(8) There are I types of nbmrjwents in Cylanguage. AW i e .,,r"{::t:,%'-c (8)
(A) 2 (8) 3 (C) 4 (D) & .
(7) For initializing & varlable, we use operator. LS __;)r‘fi.-s‘:d—ﬁ‘ paFEld D
A — (8) = © @ |
(8) Scﬂ(nf: yisa in Cyprogrémming language. - ._‘_._—lﬂ;’@'--@lf{ -C scanf() fBl
(A) Keyword (e © (B) Library gAY (C) Function o (@) Fli; J orllls
(@) There are types of logical operators in C-language. e — J{%{ﬂ J
Wz (8) 9 (€) 4 @5 | |
(10) s type of salection steterhent. ,.;_(’JWJQ" R ¢ )
(A) Array ;.J (B) Loop < )i i «: (D) Allthese U

1
ARIRIN AN iff‘ﬂjf‘ﬂ'\.ﬂﬂ?:‘ﬁ 1=i-A\-12000 MULTAN)



i , A\ -
PAPER CODE . 2022 (A) | s

N?JMEER: 3832 SSC PART-ll (10th CLASS) _

COMRUTER SCIENCE (NEW COUSRSE) GROUPHI s = wad (bp) ¥t
TIME ALLOWED: 15 Minutes  OBJECTIVE ' (i7" - w16 = oh
MAXIMUM MARKS: 10 M 7a, -4y 23— C 0= A

Ao | A3 F Ll iz s S I s vE Jrpgd e “ALEIDHCBA e.-ilbﬁ*ﬁdr;: —ied
i) i SN eSS Jonts S Psbbiardbif e SIS S § LS ifntomhicnfl Gs
Note: you have four choices for each objective type question as A, B, C and D. The choice -g{f.;w&aﬁr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will pe
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. |

Q.No.1 : A
(1} For initializing @ variable, we use __ operator. AL AL LLSeMEL (1)
(A) — (B) = © @ B (=) .
{21 Which of the following is a valid character in C-language? ’ E,F_;,ME;,E’.C A/ Vuhr'd-uft;ﬂ (2
fA} "here" (B) "y .[G] ‘a’ af n (D) 116
i3, In Clanguage which of the following is logical operator? X f’ J:\‘?q.;.).:i;'r(?" t‘u})&-;ﬁ:dluﬁéﬂc -{3}
(A) + | (B) < I%k%f/ (D) NOT
(4) An if statement inside another if statement s /...ébkf _ Apme o afunleSE S @y
called ______ structure. ﬂf?\fhf Rl
(A) Nested 2 . _ (B) Boggrflij (C) Repeated b (D) Damnmudu;‘({ _
(5} Al of the following are cpntrc-l stalagmqéax;apl : ura..lrpgu"}{isﬁfﬂmdjau 5)
(A) Sequential J55 \ (B) Repifiion pautuy, {C) Selection (D) Relation o |
() structure allows repetition of a set of instructions. e tw e id Livple Al sy (6
(AJLoop @ e (B) Conditional 55~  (C) Control W52 (D) Data &S .
(7) Using loop inside the loop is called: - et el ()
(A) For (B) While (C) Simple st (D) Nested b
(8) The values passed to a function are called: ' AT @ -
(A) Bodies 3l (B) Return types Uitgk, * (C) Arrays ! (D) Arguments Yo7
() What wil be the output of this code” ‘ -i.{lquésTJ W (@)
Vaoid-abe | ) . Void abc { )
{ L _ ' {
printf("Punjab"”); _ ; printf("Punjab®),
) " S
(A) Punjab ~ © . (B)Pun (C) Pak (0) Pakistan
(10 I there are three retun statements in ..d:,):!f);. :-uﬂuﬂ?ghuf%ﬁmfﬁﬂﬂfg hi (0
the function bady ______ of them will be executed. D % e
(A) One i (B) Two (C) Three £ (D) Four 4

40(N){(Obj)( ¥¥)-2022(A)-10000 (MULTAN)
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Roll No. 2l ssc.(Part-i)-A-2024 Paper Code| 7 [ 8 | 3 | 1
o

Computer Science obecive) EHIS L«}.g#/

Marks: 10 : (Group-l-‘f:f ) Qw ~)=2Y Time: 15 minutes

el Ay dediausts eon M2 Pt L D CB AR L vy {Qfdlﬁﬁ/‘ﬁi{!:&l,!ﬁéaulrﬂ? oy
- el wf&ﬁl:&;fbﬂ;uﬁuﬁbﬁﬁ L CBcAsZ
Note: Write answers to the questions on objective answer sheet provided. Four possible answers ABC & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the answer sheet provided.

1.1. A software that faciliates programmers in writing computer programmes E.-uui'afr!.&)g;';}r):{ﬂ SIS PRI R
is known as ; S 1
()  Compler £/ (8  Anediorsi  (€)  AnIDE 138777\ @) A Debugger 43
2. For initializing a varible, we use _____ operator. U z'_//'@/lr-'v*i,&.j} <~ z-',-" LS 2
w o — ® . = ) o B
3. Which operator has the highest precedence among the foilowing‘?('\\ \\f/ﬁ‘_’nyc—?—’é }J;:{ =g 3

S i
) E ® || @ N\ =\ \+
4. What will be the value of ' | * after the given statement : fipat s

(A) 25 (B) /_\2\5 @ .

5. Anif statement inside another If statément s called \ _ structure, {15
g | 1

oo

L? O ,\\ ::)
(A) Nested % ( )/ Bo. P ~C. Lh_\)eéated‘q;‘;:/ (D) Decomposed ij;fid 3
N ?Jﬁg-.'.gdfﬁd’b’a_'ibﬂ 6

A e o d
6. What will be the ?Gl:nut of the following code? z‘}—*“'*\
/ [

/N S -

R
Z/"‘\_\ \\\ . \:, ) print/fp "ﬂ ‘)
N\ o ‘;a
\.4 %t f("0");
(A) 0 e (©) "0* D) "1t
7. structure allows repetition of @set of instructions. i b 2L sl e AL sy T
(A) Loop «? (B) Conditional b5~ (G) ~ Control Js )] Data (5
8. An array index starts with; ‘e bnlsfumhie s 8
@) A (8) 1 ©) 0 ©) 2
9. If there are three return statemants in the function body, ____ of them will eIt Jg}s:J j:.rcf AL} l,u*‘@’i 9
be executed. --lJf‘L):Ig —_
() 1 ®) 2 ©) 3 © 4
10, char cd () {return 'a’). In this function "char"is ___. A, "char" utﬁ ;J‘fchar cd () {return 'a’} .10
’< (A) Body (J 3t (B) Retumn type Atz (C) Array £ (D) Arguments Lf“" T

49-10-A



Roll No. P T SSC.(Part-ll)-A-2024 Paper Cudal |B

Computer Science obecive) (U"/")U'.L’/}J/

Marks: 10 (Group-ll-.r:f ) E MP ~2~2Y Time: 15 minutes
el Admgdbdagst e W2 &L & 3Dl C B AN Cdlr,-c:&dﬁ'dlfd'fdfﬁmUif.:....-tﬂrru O

S S Sl ,_,«-.u’ Ve Habre L UsED L CBe A 12

Note: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to

1.1.

10.

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the answer sheet provided.

Anarray isa ___structure. b~ /: . Llest A4
(A) Loop ®) Contol 52  (C) Data 3 (D)  Conditional b5~
What is the index number of last element of an array with 7 elements? ’Mﬁz:wﬁuﬁ&_u_uwr 2
() 7 (8) 5 ©) /-! __ﬁ_ \‘1 ) 3
A function cannot return more than ____ values. { {. g -C@’Wnl.:a._u'ﬁ L3
(A) 1 (B) 2 /*{ei—‘\

means to transfer the control to another function, / F\ \ ; _a.tf/”l)uf (3l 4
(A)  Defining &3 (B)  Rewriting _ﬁ;u@\ © «%:Igymmdmg\.f 5,5"1 amng Ly
The extension of header file is: __f"'ﬂ_—“‘\_.‘ ! ,{fjnur""‘ SSoske 5
(A) Ko ;”'{B) — ) o

__aethe vaiues that do nn\, Tange d{gﬂﬁﬁ 6 whole extanslon

JHUTU' ﬂ#&(lﬁ{ﬁﬁu_ 6
(A) \Janabla = @Y 1ConstTnts ‘f“” ¥ Vc; / s’tnngs £ ©) Comments U

| z
Which olf the fc!lnw:}es valid line of code? il j ,f 2 fe C::u)’ i‘{.ft:}lr(! eyl T
-v \ ’/ o
A) u?tq 0, N (B) lne=fisisalinei (C) float = 4.3; (D) Char grade ='A";
i L e JeLSt® _ scanf() 8
Scanf() is an examplepi . ﬁ:tqctlon. L & £
\ s ) . :
@A) inputeget N (B)‘““/ Output 2237 (C) Logical O ©  Math L
b intm=0,n=5; s s 4T 52
What will be the oulput of lgifgwfng code? intm=0,n e 5T, COEZIE
if (m%n>1)
printf("Success”);
else
printf("Looser") ;
(A) Success (B) looser (C) "Success” D) “Looser”
A set of multiple instructions enclosed in braces is calleda __. -.‘E_,{.-LL;J’ _,_.:fu*.:,gu‘..,y;__gx-.bﬂ 710
(A) Box U} (8) List 2 (©) Block Jik 0  Jobos

Ve, 51-10-A



JRou No. S A O session 2020-2022 PaperCode | 7 | 8 | 3 1]
Group-l-.f:f

CO]T.lplltel' SCieﬂCE(Ngw Course)(Objective Type) (U'f!/’ )({.ﬂ[ﬁ)w L"}

A

Marks: 10 Time: 15 Minutes &215:% _ 10:7
W .M:..;T,!’__,rm;’-;uga‘fé_;oﬂs,c,e.A_-.y,e;,ﬁgédfme:q;q&}fwﬁfﬂsmyzé_au'rrv‘:.ﬂ

Q.wﬂ-q /=23 Lo S Sep A I se EsiED L CBA s7& VL A dedie

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB.C & D
to each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the, answer sheet provided.

1.1. Afloat uses_____bytes of memory: :..‘:_tfdb-'*iu"'l__d’dx.o‘.’._'f:ﬁn..ﬁ 1.1
(A) 3 (B) 4 (C) 5 (D) 6
2. Which operator has highest precedence among the following? E‘g_uyc_.,.»é}d:&{fu{—_.‘;ufjaﬂ 2
(A) / (B) = (C) > (D) +
3. Ternary operator is applied on_____ operands: = t'frh’{ﬁz,;' rL87 3
(A) 1 (B) 2 (©) 3 . (D)4 '
4. How many types of control statements in C-language? r‘\v 2 ‘-‘z,_h'rl-'-'“(.?-{ Juﬁ:a:/"f LhEc 4
(A) 1 (B) 2 (C) 3 J ,F (D) 4
9. Conditional logic helpsin____ : ] r:¢ o e Qras___ ok Uﬁ)f 5
(A) Decisions s _f_‘;lﬁ_\};-glgr;aiicﬂs JulF
(C) traversing . Yfoy JE\(D) Deletion /%
6. Anarrayisa_____structure: v“ﬁhﬁ/ e ldndy il B
(A) Loop ¢ (B) Controly- s (C) Data L3 (D) Condition ~i
7. make it easier to read and write values in array: :._a.rlgﬂubft-:;xsltjf‘zgﬁg_;lr_ R
(A) Loop (B) Conditions 417 (C) Expressions /‘"-/,’5 (D) Functions /-‘ﬁ
8. Function could builtinor______: :g,_r:'é:s___ gu!..:..&ufﬁ .8
(A) Admin defined 3Lt (B) Serverdefined il
(C) User defined 2 iy (D) Loop
9. What will be the output of the following? s litn 9
void abc( ) void abc( )
{ {
printf("Pakistan"); printf("Pakistan");
} }
(A) Punjab (B) Pak (C) Pakistan (D) Pun
10. means to transfer the control to another function: :q;.tf,ifjlzbt uiﬁ.:.fld,-}-’f;ya..___ 10

(A) Calling _&¢  (B) Defining &} (C) re-wriing _E14% (D) Including &2

49-10-A-Yr--- e,
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ﬂ?ﬂll No._ o S S
G

S.5.C{Part-II1}-A-2022

ession 2020-2022
rou p-li-.f:f

Marks: 10 ﬁh’?ﬂ-q 2.'2:' Time: 15 Minutes &:415:=3)
:u:’f_.:.fﬂ..‘.ff.....-lﬂu::cpgﬁfé.:DﬂhC.B,Aal,fﬁ;ﬁd:ﬁLJlrﬁE;'%Qfd'ﬂL}:f'/"ljrl.f-'a-i,fﬁi.-_uUlr'r‘lj :
e SLSeBL A o3e RUIMLD L CBe A sz VLA din

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each question with Marker or pen ink on the answer sheet provided.

section: :uj'{jird'{ﬁ:ﬁ uxﬁ'lnclude A

1.1. Include statements are written in

(A) header .iz  (B) main £

(C) Comments

Paper Code | 7

(D) print =

o

Coniputer Science (New Course)(Objective Type) (U:ﬁf)(w:gé)w If"}

104

o

2. Let the following part of code what will be the value of a ?Jsfﬁl)f.::.f Sra" Pl i ok F Lo k3 2
variable "a" after execution: ‘
int a=4: int a=4;
float b=2.2: float b=2.2;
(A) 8.8 (B) 8 () 8.0 OV (D) 82
3. The operator "%" is used to calculate_____: of ‘f‘F' b1l s ) — """k 3
(A) Percentage (?:; (B) Reminder .S (C). .jfgi:fﬁ;i\;ﬂ/- J’_JQ (D) Square (i
4. Which of the following is a selection statament:?_\ 4\/’; ‘.‘zl-_\;-'n&'” u’gr ﬁff;&.;ﬂdjeﬂ 4
(A) if (B) For . S54€) while (D) do while
5. How many types of control statemen{gﬁd};ﬁé;; ¥ St Jﬂf'ﬁyf Sronfiee s
(A) 1 ®2 U ©) 3 (D) 4
6. What is the size of array in thiétl:s;é’tement? ?,;.y’ﬂ-s’e_ﬁbd > V1 6
(A) 1 (B) 10 (C) 11 (D) 9
7. ___ structure allows repetition of set instructions: :;lz.tm_}h-?fgf;i,».-»pi,;‘:‘_:fé::.«l_.br...‘-ﬁ/:f___ o
(A) Loop (B) Conditional 43~ (C) Control (s (D) Data 3
8. The functions which are available in C standard library are called___: :tZ 1 2Bamii A1uiC 8
(A) Userdefined @iy (B) Built-in @led
(C) recursive  (yAF (D) repetitive LS
9. What is the type of parameter in this function? e s ?&%L&Lﬂfﬁ vl .9
(A) int (B) char (C) area (D) float
10. What will be the output of z: =38z 10
int z=abc(int a=2); int z=abc(int a=2);
int abe(int x) int abc(int x)
{ {
return x+5; return x+5;
} }
(A) 2 (B) 7 (C) 5 (D) 10
51-10-A-Tr— R



éﬂll No. o S it session 2020-2022 PaperCode | 7 | 8 | 3 | 2
Group-ll-?.uf

Computer Science (New Course)(Objective Type) (5% )(Lﬂ:fé)w L"}g
107

Marks: 10 RW’-Q 2-'2:' Time: 15 Minutes 22415:=3s t
: .-_-_m.?ﬂ__,mu%gié__:nm,c.B.A;gfmﬂgﬁdwze:‘f;qu’._jizu",/vd"dmpzﬁ,wwa wad
S eSS I3 e L UshED | CB: A sz L A g6z

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B.C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front

of each question with Marker or pen ink on the answer sheet provided.
1.1. Include statements are written in section: uf_}lw’{;u‘? ui"}f' Include .1.1
o~ (C) Comments '

(A) header .it  (B) main (D) print i

2. Let the following part of code what will be the value of a NI | R RS BTN 5 1 I K3 2
variable "a" after execution; '
int a=4; int a=4,
float b=2.2: float b=2.2;
a=a*b; a=a¥p;
(A) 8.8 (B) 8 ©) 80 7o) 82

A\l o st

3. The operator "%" is used to calculate \
“JE (D) square &y

(A) Percentage é"{ (B) Reminder iz,  (€) Factodal

4. Which of the following is 2 selection statement? P \/’_ ‘.";1_';-"? U,JE!-.' utflfdfxz.uﬂd_,’iﬁm 4
(A) if (B) For ,. {'c’_:i{gi')whila (D) do while
5. How many types of control statements_‘ip‘_.,“;;ﬁ:""i;;‘" / ?LEJHJ:}:D-U’J’ L(rL-'i!l.?-Ir LC" 5
(A) 1 B2 o (€) 3 (D) 4
6. What is the size of array in lhisléiéfement? e VA b AL s 6
(A) 1 (8) 10 (©) 11 (D) 9
7. structure allows repetition of set instructions: :,;_mdh-f-lg Lyf:;gxgﬂé_rfﬁayl¢.%/: ;A |
(A) Loop ¥ (B) Conditional Ls”* (C) Control i (D) Data &}
8. The functions which are available in C standard library are called___: :tZ i _ﬁ@ﬂrddﬁum_—’—c 8
(A) User defined Wiy (B) Built-in wialt
(C) recursive  (AF (D) repetitive /5
9. What s the type of parameter in this function? fe i Atlii sl V1.9
(A) int (B) char (C) area (D) float
10. What will be the output of z: nfeddz 10
int z=abe(int a=2); int z=abc(int a=2);
int abc(int x) int abc(int x)
{ {
return x+5; return x+5;
} }
(A) 2 (B) 7 (C) 5 (D) 10

51-10-A- % - R
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Time: 15 Minutes &2#15:=3%

Marks: 10

8.5.C(Part-11)-A-2021
(For all sessions)

Group-l-w

PaperCode | 7 | 8 | 3

5

(%) u"’ -lr},gg;{

104

ﬁ/{’d&ﬂ{@ﬁl}'ﬁtﬁ"{@m‘?i\._.fFﬁf:u_;’ﬂfé..;[}.ul,C,B,A.:.-I_Jﬁ.-ﬁlpﬁd!r;&f%@(@iﬁd%/’d‘t};;gigﬁgwrrﬁ:c, J

NOTE: Write answers to the questions on objec
each question are given.Which answer you consi

S e Sk

of each question with Marker or pen ink on the answer sheet provided.

Which of the following is not a valid subscript?
(A} NUM(10) (B) A(-2)
2. TheINTis:
(A) Built-in function el
(C) Local function ;ﬁf’ﬂ
3. A value given to a function is known as:

1.1.

(A) Arguments ol

(C) Input g0

4. Normally the computer monitor screen is in: i fj\v\/ .—.;.J::qf“.l);,f{_&rh
(A) Graphic mode J?w‘J’I)’ ,\{{B}T‘Féxt mode L,f:ir‘..:.-«?
(C) SCREEN Statement =50/~ (o (B) COLOR Statement a2tk

5. Division by zero is: : ?J\LJ 3 e L. 7
(A) Syntax efror Jn;ru—é" K: ' (B) Logical error J;I.J‘f-?:’
(C) Runtime error ;;I(fl:w (D) Notan error uﬁ;ljf

6. GW-BASIC can operate in: :.;_.Jﬁf-:ca;'il.@.-:;'.'id :
(A) one mode Sl (B) two modes (Eiiv
(C) three modes uiiirgf (D) several modes u:};‘r‘df

7. The extension of GW-BASIC program is: e J}J’/rJrV:{-‘:.n:‘-'itﬂ i
(A) .bas (B) .bs (C) .doc (C) .txt

8 Which control structure is used for decision making ig é_/ﬁ-.j/{ ,}"Js/’-’l Ud 2 CersG .
in GW-BASIC? ‘-'f_t':fdl.-?i
(A) Loop (B) Condition ¢4 (C) Selection (D) Sequence 7

9. A loop within another loop is called: :g‘-_twf_,ﬁ,;u:.,ﬂ .
(A) Nested Loop  #2< (B) - FOR...NEXT loop
(€) # WHILE...WEND loop (D) Selection Structure 4%

10. The index of each element in the array is: :.:':.':ﬂu"}:w’;rgﬂig.ﬂ

(B) Similar ULE (C) Odd Jb (D) Even &

(A) Unique »*

?‘f-‘ u:'ln-‘-;/{’ -_.-"_"JJ}LJJ(LJ: (J: ilon

() A2) (D) B(4)

:;E_INT :

(B) User defined function o~ 31
(D) Function o

i;—ﬂl‘:&w&fuﬁuf ,

(B) Parameters, r}‘? 2
(D) Oufpu s

49-10-A- W W -~

wak):l-:;_.;b.%?c—du:fhf_l) L CBcAszZ&l
tive answer sheet provided. Four possible answers ABC&Dto
der correct, fill the corresponding circle A,B,C or D given in front
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5.5.C-(Part-11)-A-2021

Roll No. Sishing (For all sessions) PaperCode | 7 | 8 | 3 | 4
Group-ll-»i.u/
: *”
Computer Science (Objective Type) RwP-4-2! (& J lf),.,.
Marks: 10 Time: 15 Minutes &#15:=% 104

ﬂ}dlfw{qufﬁf ¢ 'M;J.;,Tf.:ﬂifuacﬁé‘:é.JD»l,C.B,Aaa!,lfiﬁb&‘)lrﬁ eg‘:f;twmu"s/ﬁﬁmyziguw O
_L,{_'J/:;.LFL-J;&L Jl):_.ffJ.'ﬂi"qzl-Lﬁu:ﬂJLD L CBA szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each guestion are given.Which answer you consider correct, fill the correspanding circle A,B,C or D given in front

of each question with Marker or pen ink on the answer sheet provided.

e 257 Print VAL("78,city Lahore") .1.1
(C) 78 (D) 78 Lahore

1.1. Output of print VAL("78,city Lahore") is:
(A) city Lahore (B) 78 city
2 Which function changes the way of displaying output in BASIC? fe b/ fif&})&;uf,:«fiﬁ‘_ﬂ;&'ﬁ bl 2
(A) SCREEN (B) PRINT (C) LEFTS (D) ABS
3. The diamond symbol represents the: AN
(A) Inputioutput g 3Thege) (B) Decision mamnjg il deb
(C) Processing .J':m; (D) Re;;,}grka*xaf;lax
4. MODis a: @ 'Lle-MOD .4
(A) Logical Operator ,‘:,;T.}:'?u i
(C) concatenation operator /':,;_I'Ul:i.lk . f";:F{D} Assignment operator ,;T,_*,:ﬁ,f

&5 S foreasic' bule L itn 5

:af_.J);:leikJ}P;fi 3

~0Th 2

4 \ ‘-“'/, . x - -
_4B)-Arithmetic operator PSP

5. Which of the following key is useqmbad

a file in BASIC? Jr e QS
(A) F3 (B) Fa (C) F2 (D) F1
6. Sequence control structure is used to execute : e by o &tk ArhPsr 8

(A) Loop (B) Instructions in order e w7zl

(D) Logical Instruction ..-..y.‘uJE%u

(C) IF..THEN

7. IF...THEN statement is a____statement eed Mo THEN 7
(A) decision making sl e (B) sequential U7
(C) loop ¢ (D) logical 2

8 Maximum number of elements per dimension is: :.;_J;f.-rﬂupc.—.,uprbﬁi.ﬁpf..ﬁ 8

(A) 10 (B) 255 (C) 32767 (D) none of these
=93ufuq_ i -,C_f'hﬁ/?"'J 9

9. Linear array is also called a :
(B) Two-dimensional array &5

(A) Vector array ,__,,;;.E',

(C) 3-dimensional array M5 4 (D) Filling array NS

10. The output of print "ABS(-15) is: e2e 5T Print "ABS(-15) .10
(A) 15 (B) -15 (C) 15.5 (D) -15.5

51-10-A- % ¥r---
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PAPER CODE 7831
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Notei- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

songid
1045

O

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question, Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

“‘-&.

202022 to 2022-24 /¥ Mol
)i

1041 - 1024 - 24000( 1)

(D) (C) (B) (A) QUESTIONS Q-1
Fiyl /|)',,;_ ,f.‘.f ’;r,,,;'!' _c.t'U:JI ..;_:frr;ﬂ.«fu"’u . |
Designer Programmer | Manager Operator The person who writes a program is called
et U R B P | 2
6 5 4 3 .
A float variable taide’“ bytes in memory.
W
A E "Jﬁ&ﬁ.:g_duuﬁfd.:bu 3
1 3 4 0 Whg{{b‘l%‘l'ﬁe the output of following code
Lr ) printf("#d” 3 <4);
.;.:- ,.\;‘ K L ¢ " .
main( ) getch() printf() scanfC ) ?‘?WG‘@”" LSt | 4
AN Which is an output function?
£ } ‘\\‘.) - r. A&
PRAN Wy Je# | s
S 4 3: {‘\‘T‘ 2 H oW bia Al
QI There are types of sglection statement.
i(@6==0) | ifCars==0) | if(@ua==0) | if(@s=me) | SgsenFoletoinind=16/1| 6
If int d=16; which of the following statements is true?
&3 IJ.I/"I ﬁjf ) ..._',J -g.g:iyngaf&rﬁc—LlJt;u d’/(jf i |
R Control Conditional Loop structure allows repetition of a set of
instructions.
e - A L Bt NSt Sales | 8
Random Divided Scattered | Contiguous | Array elements are stored at memory
locations.
._:,.-:_-,Lf el e s Uit =4 char % char cd( ){return a’} | .9
* Argument Array Return type Body char cd( Y{return ‘a’}, in this function char is
e oiunegrnotdna P A | 1o
10 5 2 ! Fresfh
If there are 10 return statements in function body,
of them will be executed.
e



. /_-? Ju -.gﬁ' /e Jr /":' du{‘gl.{_..;d:r uﬁg,;.,,llr;j s bl (ﬁ:ﬂlﬂ) 1024
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PAPER CODE 7836 04 wsiss (@ b
P E,EJ/L&LIAJ(JI)JH‘JPLulfwijc.g}:u:}béa"..fd.b'édlrffQfdﬂl.r’ {,Ei&..JDJJfC‘B A&U.P.:ﬁa'bf.dlr;'d-}
q_JlJJIk-‘LJFc':.fc,u PAPERCDDEJJJ"/.:{.,;'D‘JLJ!)IUJ]J\JJ:Q(&J’ (ﬂ;"’ﬂw'fa}f.igﬁwaJA./rj;uﬂL.fffu:.rFmL..'
_..*..br"Jl.“‘lﬂé ur‘L:;r":..F_urx/rb_J{bd;I:.aurU._,ﬂ....-n‘JJb u‘/

Note:- You have four choices for each objective typ;c question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (©) (B) (A) QUESTIONS Q-1
o S A Iy e AL Pt HFor | 1
Float Body Initialization | Condition | In for loop, this expression is executed only once
.:Ji/’:( i _ oﬁ'f‘::; Lm‘_./"( -LL'E_HBF('&LU-‘__ é:d.:ﬁ.'ub’ﬁz.ml 2
Controlled | Contigeous Divided Scattered Array clements arestoredat _ memory
locations: &-'", f}
jres Ak ek Wty | The fl.metlpnrf\ BBz LS A | 3
Selected Repetitive Built=in User defined ¢§ ate avmlable in C standard library are called
void never nothing nuil \ i,f?:./ -c'_.dm;al.‘u /"JJ W P .,ﬁh....-’ d/ u‘ﬁ 7z 4
x\ ofs \j - function that does not return anything has retum type.
. \\--\ ;Q - ..q.._".-fﬂrtb’(fid,pi.)fc.uﬂcﬂ 5
=colour number Svar V™ zear . o
o~ ". ~ Which of these is valid variable name
, _ D ST N SRR R S A

: ' : r Eoﬁ;ﬁhahzmgavanable,wcuse operator

“9” "Pak” ‘9’ A . e (Constan) 2 el i | 7
Which of these is a valid character constant
e =3 f10%6)e3 A | 8
12 3 0.5 4.5
The value of C expression (10%6)%3 is
[ - 3
..‘L.J,-‘r‘rgf'a'gff;.(_ﬂu} 9
while int for if

Which of the following is selection statement
Fail 70 Pass 33 el s T3 5tn | 10

What is the output of the following code.

int m=70;

if(m> = 40)
printf(“Pass”);

else
printf(“Fail”);

1043 - 1024 = 16000(3)

&7
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C and D. The choice,

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question ,on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed
(D) (C) (B) (A) QUESTIONS Q-1
U:R(j-’r a0 £, % 3 "c.}'-rf».:-f.u..gll.-}f:.u‘:u! 1
9 a here . _ Y
None Which of the following is a valid c&;rmﬁ‘
£ IDE fu h{’s U gl o L;{-E/ */rfa:ﬁf'-_-{*"‘f 2
_ _ A software that facilitatés programmers in writing
Debugger IDE Editor Compiler computer prografiis- ig’known as
FPRAR= YA ! St 3
6 5 4 3 o T Wl
A floatuses bytes of memory.
A1\ [ ;J.-I - - g -
: NS _?dﬂc&—"ikJﬁ.;;h.‘-;"b!' 4
v = B T ”0:“ “Symbol for assignment operator is
(=) . v . S | A byt e L b
£ £, For (OB | a1 S e B | s
Including Re-writing | Definingop Calling means to transfer the control to another function.
ok S S P wE Sepumlie SabSE s | 6
. Block ) A set of multiple instructions enclosed in braces is
Job List Box calleda
< Jerie FPH LI T
" [] {} O
In if statement, the condition is written inside
[ezef] ;
eS| A it S ctnedhill o  ¥)| 8
Increment / Initialization Body Condition part of loop is executed first.
decrement
: o
ifthe - &S~ ST Unba 1002 L)1 |
1 -99 0-100 1-100 0-99 iy J’Ta"{f‘f WHERATIIGEA gl | o
size of an array is 100, the range of index will be
c.ta :Cfl.il_h}f ain Y LL.UZ_-HI;JI..'.-L/;G 10
Server Admin . -
fi =
aandc User defined defined defined Functions could be built-in or

1009 - 1023 - 24000(2)
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tion as A, B, C and D, The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
. o - - - 4
LR | LB | LR | LRI ek |
Machine Assembly Low level High level | BASICisa
language language language language
-b’, b, ‘jy' i ' : = i - L
L:JJ { i i3y KL AON %L’CIHH;“_&&L}L; 2
evera Three Pt medis Ctiinuds GW=BASIC m:;_:} 6p¢t_«tate in:
modes modes _,_\
Sl f ¢ ;bduﬂ,{_..f.f_tbr‘b-";zuﬁ.ﬁxjud 3
Fl F2 F3 Fa Whmh of the following is a shortkey torunafe
N\ _pTngram in GW-BASIC?
— 5> ;
<o~ S T 200 e Lo | .
NOT NEITHER OR _AND lf-m’,.f"-{ S e Lo | 4
PR Y Which of the following is not a logical operator?
A Yo ek rengfea b | 5
A(-2) B (4) A(;}::."I. ~ NumM(©0) _ A : e dng
S Which of the following is not a Valid Subscript?
— i3 _— o L & /1 LEFT$(“Pakistan”3) | .6
Kis Pa PAK Pak _ %
LEFTS("Pakistan”,3) =
g 54 " 3 byt A R PS8l | T
Iy s 5 A e GFedlayb A UR P LitoS ik
Three A file can be organized in the following ways.
Four ways Two ways One way
ways
. . . . U A SCREEN 434K | 8
On color monitors, SCREEN modes are of
LM | Lol | LLirr | Ll —ebtaeica+y | 9
Redo Page Break Find Undo Ctrl + Y is used for
J;ﬁf).:fL:b'Jj::.:JLfL-/“'!&-I.r[.lffa:.pﬁd_'j.?arﬂ 10
.f',d:fc' JI'.UI-L .r',(_J.l5 M fe
Scroll Bar | Status Bar Tool Bar Menu Bar | Which of the following bar provide the information

about application Software?

1003 - 1023 - 1500(1) =
) 5
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Netei= You have four choices for each objecti e question as A, B, C and D. The choice, which you think, is correct; filf that circle in

front of that question number, Use marker or pen to fill the circles. Cutting or lglilling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the sitation. Use of ink remover or white correcting uid is not alivwed

| (D) (C) (B) (A) | QUESTIONS Q-1 |
4 : l
| ( ) [ } o . [ ] * -._;J-.’.-;J":'I';_v.":' o J&;_JVFJ-I-'P”H;:IF A i
[ Whth symbol is used by il to enter the condition. f |
: 7 = i
1 if'the a:zeof ‘r'-_-_ L r‘.‘- n‘.._ 1Oz Arr 2
[ 1-100 | 0-100 0-99 | 1-99 % “ i i ;
| ) an array is 100, the range of indexes will be =—==== ! I
. B o " H : i
vl iy iE R G g.._--..-tﬁf-"gj-’-{:-—l--—»-—-u- r"- .
[ - J.;’, | ek o : I
Custom | - . L The pre- d:fmrx.%\mﬂenm“ 6i C language are called ! :
i Commercial Built-in X :
made User-defined o ! Ok i) .
; X function function RIS Jx -
i function lunetion KNS L [
l ” ey P -~ ] : (J'.I\/ T -- i G s 20 !
W3 =y WA 24 QNS waded G Snds | A
Body Rewmtype | Arguments An;gxr-i’.{ "5:\ The values passed 10 a function are called
}::, 1 2 ‘:"{'I' 4 U’uculc_.f_la.f;)fu Jr"d:,‘.h_ruhjbf ""G %]
= Il 4
; i ki Which of the following are used o Y Fsr ™
Expressions | Parameters | Arguments™ [~ Constants
i) e £ = ‘1:5? " recieve the values passed to the funcuon as Input?
o
| 6
P ; s e Vfr‘.’ -...lj:l;rlf DS ST Y d’.r(--' =
Collection Variable Jar Box | ———can be thought of as a container to store
constants.
- 1 . - 7 » .
Sk ._)"ﬁ SoA1 J;il..;’-b-‘,}./fj & J&:Q.JZIJ »£C scanf | .7
Header file Function Library Keyword scanfis a-~= in C programming language. N
o b . m —e =k LA = | &
fal a 4 here I
Which of'the following is a valid churacter: |
1 . I
sl i —E’J{j u}}i/){ UM -—d‘JJﬁuﬂ__“JJ Vﬁj“l 9
Amay Traversing [terations Decisions | Conditional logic helps in ~—==—--- '
How many times the word “PAKISTAN" will be printed | -10
by the loop.§'Z_bL/" _-.;4;;'_57“;;!.:—"'5”;314_43 L)
for ( intx=0; x<10; x++)
0 9 1 10 :

{
printf("PAKISTAN");

}
1035 - 1022 - 27000(4)
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the Answer Sheet and (il bubbles nccordingly

(D) (C) (B) (A) QUESTIONS Q-1
pd S L S sz s -.:I:.JMJ,:JJ)*?{ 1
Color Monitor Drawing Resolution | The number of pixels arc called
quality AN
;J,;quszr ,u,rn;'ﬁ'/ J;{i(){—-’) j;,g_r/'tu_f \f\“j._},gdiif il J-’ L*u’...:"""’._,l;_-.- 2
Exccution Syntax Logical errors Runtine [}'ﬂu&k{ﬂ]‘ﬁd’;ll errors in BASIC statements are
crrars errors CITOTS ,,{f\) >
i L S~ ¥ /% J:,;;f S des? S il BB LS| 3
Hyphen Comma Semicolon Col i“f?f” If lwo or more statements are wrilten ...:i.;LfJg.-_'-
i . f\ff/ > on a line, they must be seperated by a
< “‘E\j\\"’! eSS LS FoSi kbl | 4
1°4 172 Fl o[ I3 Which ol the following shorteut key is used to save
RO Wiile in GW i .
% s . [ LIS A DA g s
In GW=BASIC, types of control structures are
2 L Li Sl e Jas s, miiivad | 6
NEXT STEP SKIp ..]..L)ﬂ ‘Q\?'?\l, Whirh keyword is used to increment "c:.l'J;JL-'-"'I
utf':;.-‘:-" L-, _ r"¢ oa;l-:,crcmcn: a counter by a value that you specify?
o S I e R — ik
A4 3 2 I [l iere QG types of arvay. ..u_‘_erJl.._-..Jc._.rl 1
/_{:} A2y JFJLE,;;LZJL .l il _.;;t‘iJ-,-"-a.fJ;ﬁ"l‘,_ng._,_ﬂ;:/f"Lfl &
Slruclue Scalar Multiple Array A variable that holds a large group of similar type
value variable | ofdala is called. m m o
Ve r!fu;_f— Fo P et a_ﬂ:labf(- u‘ur" VY. d..f’fruﬁ;u‘# 9
Units Sub File Artays A large program can be divided into <t
|__proprams 1 smaller parts called
_— 3 of ) ~ A REABS(-4.58) | .10
Fhe output ol ABS(=1.58) 15

1033-1021ALP-30000 (2)
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(D) (C) (B) (A) QUESTIONS Q-1
M ) it L) NS () O ..f;_.df;;lﬁ.:..fuu_f’lfﬁ K
Remarks Processing Decision lnpul!foulpul The diamond symbol represents the
making
7 5 - f ke e
Pl Ly SE~ Y ﬁiﬁ,(ﬂ%}%{@;ﬂupc—»p)g&@b@ﬁ 2
Hyphen Comma Semi colon Colon Iftwo _grgglg&fatments arc written _.grlgtﬁ o
nrf;&ﬁ?ﬁh cy must be separated by a |
i e NS . P
A DBl gl L8 T St sg | 3
14 (3 2 |:’L\.\_{I/r}0\'JJWI1iI:h ofthe following is a short key (o -
o Q - SAVC A program in GW-BASIC?
'H.;‘ N ok 3
, WHILE- o szﬁ'fﬂ-mw— PN LW $levtditn | 4
HE=TTTEN : NEXT-FQRND e e - '
WEND ~T LLSE 1"Which is o luop stalnient?
N 'f. Nk “ ; I ‘:-.‘_J[PTJL}:.:J”J:‘_,C_‘.'!%;G. 5
5 4 3 2 Fty Pap o
- N How many types of Loops in GW-BASIC?
...;:...:Dﬁul;ic.ni.?q_rubﬁl.’_'.-..:,f'...l_.:‘l 6
32767 512 255 10 '
o o ) o 1! Maximum number of clements per dimension is -
-b’ﬁdl‘x’lé_iélr;_f‘-u)c{_/::c‘:. N -‘.-ﬁ-..i:l g
N(4) N(1) NG N(2) What is the representation of the third element in
array N
e A2¥ABS(-4.58) | .8
4.58 3 =4 & :
The output of ABS(-4.58) is
sl " B D e oy TR P
u“"Jﬁ' u’ﬁJ{ﬂ U"Gﬁ‘w_uqf U‘ﬁul\.ﬂ: -42-!.-*’:;;" ..-;.d/gyl.)’(u‘ﬁb’ INT | .9
Global Local User define Built in From which category, INT function belongs to
function function function Function
ri} L;JIJ(;::L s C,FJJJ'J_J _%JMJJA;J:J’E .10
All Monitor Drawing Resolution | The number of pixels arc called. '
quality
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Roll No. | l l I | | | (L—-I(.?.J}Jb{fl_m

Computer Science SSC (10th) 1st Annual 2023 i o o it
Paper : I Group: | Objective Lf u;;.,,,)' h: =24
Time : 15 Minutes Swb~/723 D) o 151 =Fy
Marks : 10 I PaperCode | 7 8 3 | 3 10: 4

Aechl S MFeisOldl Az e netf b s b iy ﬂ.:,&ﬂjl.ﬂﬁl,dix}.: Dus C,B,A .-.-:I,Jj.',;" ;bﬁ.dlr n md
=)
P 7w oS8 S22 L S 3 Fsimlie L

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number In your answer book, Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (s.o

Q.1 Questions/.= 0> A B c D |
. 1. 'g."!'_;.:'”‘”"j: ——""-CHL’FZ"! Ulh‘; U!afﬁ (EJ’f}JJ!} rg,:-
Conditional logic helps in ' Decisions Iterations Traversing All of these
?éﬂy;éd'a',é:‘.eéé.ﬁ&»:gﬁf.iﬁh‘if
Let the following part of code, what will be the
value of variable ‘a’ after execution.
2 G G 8.8 8 8.0 8.2
float b=2.2;
a=a*bh; of m )
85 BsSAH7 210058 S o)~ <
3. | |f the size of an array is 100, the range of 0-99 e 3\ <0-100 1-100 2-102
indexes will be. K/
s b - bodiar Al (W hd
SN ol TV VN b g \ >
4 —Jt..iﬁ._w:‘-"ﬁ!c. Z\m*‘v"’ b/ 7 Vs
) statements describethe (| {N\°
sequence in which statements of the pragram’ Loop Conditional Sequential All of these
should be executed. AN
?E}Jkuﬁg{l;’{j{!ﬁ/‘g&éﬁkl&b-@ ﬁ;J )’l;_r M IDE j;_j
5, R —
A software that facilitates programmers in i
writing computer programs is known as ; An gy A compiler An IDE A debugger
6. -4—“char"u=c'fa «char cd() {retum ‘a’) SAT Ty e il
char cd() {return ‘a’}. In this function “char” is: Arguments Return Type Array Body
The values passed to a function are called: Bodies Retur Types Arrays Arguments
r.’-..-.;-E,Jfl.l-?hf'fﬁlélffliérlf:.q.ﬁj::..’jbl&l )y’ An IDE £ A
8 c;-eu!-dgﬂgd’ﬁ[d? ¥
" | Asoftware that is responsible for the i
conversion of program files to machine Acompiier An IDE A debugger An Editor
understandable and executable code is:
9. 2 u:z-’,ﬁ.“._fwrf},; C .Scanf Bl W $2A L"/" S
Scanfisa in C-programming language. Keyword Library Function None of these
Ll pldFe AL 254 ) "
&L Ua2t £ - J 8 D "
10. e ba ™
—structure allows repetition of a Loop Conditional Control Data
set of instructions.

da o fos 125-223-1A-9000 * *



Roll No. | (S 2ob s
COMPUTER SCIENCE SSC (10th) 1st Annual 2023 .ﬂﬂhﬁw
Paper : 1l Group : Il Objective (5’1 |73 :.;.,,f HN: 24
Time : 15 Minutes () SwWL-2-283 #1151 o
Marks : 10 Paper Code | 7 8 3 2 10: #

By Ao o thzl.f.}lﬂIbn.f_.,.l.m.v»;.;tu:}uéa_ua.u.idlr ,;{Qh’ﬁmd;s-w?_'g_: Do C,B,A a.l_.ur;ﬁ.»gﬁdv S
Kt o2 d s SL S5 SeXN LT} S ustialie i
Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (.»

Q.1 Questions/ =t » A B c D
e W il L S3# S r JY y - P
L can be thought of as a container Box Jar Variable Collection
to store constants.
9 -L,Ed“_.fdwplff...gjl r‘u'_;’..i.d.-fflﬁ"lfi._ﬂ &5 _ @ 9
For initialization of a variable, we use_____operator. )
3, | -EndHLLLSwstne printf int ﬂgqf;.:."' | char Uz
printf is used to print —type. N\, Z All of these
4, e FRLS e st | w0 d\ g 7 Adfeisu
Scanf isa___in C programming language. Keyword > = Library Function None of these
-.z;.lrﬂ/_ﬂf}gfﬁ:ﬁfﬁﬁéuré_ﬁﬂfﬁ _ f{ﬁ\;&‘; 3.,0 Sy ;j:{ftﬁ
5. | An i statement inside another /f statement is K ““ Nested Boxed Repeated Decomposed
called structure.
bt rballanbic LG T S o Ji 7
B. | Aset of multiple instructions enclosed in Box List Block Job
braces is called a: 7 J
SnlSAng 2 1005L¥e /1 T
T- | Ifthe size of an array is 100, the range of 0-99 0-100 1-100 2-102
indexeswillbe______
‘:’.-Ld.u-f . JL-.-LIL}!L‘:-!J .-24',{'
s P o b 9y x
8. pr-> b U
structure allows repetition of a set of Loop Conditional Control Data
instructions.
9. duf Ilféd.-fdu:‘ff/)g .:’.{!PJE_"".}, LJL‘:HIJLIL L}L’Tuf-l--{niu 3 rl.-'f'¢
The advantages of using functions are___ Readability Reusabillty | Easy debugging | Al of these
e un T Yk LSS g 3 oF ST
10. S s .
If there are three retum statements in the One Two Three First & last
function body, of them will be executed.

i

126~-223-1A-12000 *



RolNo. | | | | T T Jeesabud
Computer Science $.8.C (10%)-A-2022 Flted
Paper- : Ii Group: | Objective (5’5 g oS [
Time : 15 Minutes (iv) X6 2
Marks : 10 PaperCode |7 |8 (3|7 | Sedl-&G/QA10: J

s fo b | SN L AR e s L s by SO LI
L. i ufinfaur§E SIS UM LS 3 ol

Note: - Youhswfnl.wchulml'nraat:hnl:g[ad:lvntypequuﬂhn&.&.ﬂlnﬁn.mmuhmw\ywmtbmﬂlﬂmwo in front of that
question number in your answer book. Use marksr or pen to flll the circles. Cutting or filling up two or mona circles will result no mark.

SECTION-A (.-

sDIC,B,AWz

Y |

Q1 Questions/ .=~ A B c D
0w B 24 Sz i Bl |
1. | The values passed to a function are called Bodies Return types Array Arguments
2 L2 scanf sl Printf ek L £  d
The printf and scanfare _____functions. Built-in Arithmetic | User-defined Custom
S ETENON (15775
What will be the output of this code?
intadd (inta,int b) N
relurna+b; M "‘-\l"::" ]
< ) 5 | f;\:\ - 9 14 18
void main() ';’ '
{ G
prinif ("%d",add (9,5)); o I\T
}
bl ol e | o ok w4
4. | In which section “Include” statements are Header Main Comments Print
written?
g e LPrint | 2o 22| seslazer | QLb
“Printf” is a function: Input Output Input & Output | Mathematical
" ol wH s uf —_— gagy; | Metisisa |
Which of the given is a valid statement? line, :
g .g_h-m'r.cﬂdfng TN Bl PR A 3 i il
7. -4
A set of multiple statements enclosed in Box List Block Job
braces is called:
8. e F o Float if-else Array Loop
Which is a selection statement?
e B8 m7 100516 /i
9. | If the size of an amray is 100, the range of |  0-99 0-100 1-100 2-102
indexes will be
e K for 3 p 1! 5 Gl
10 partofthe forfoopis executed first. |  condition Body Initialization | Increment/
decrement

126-222-A-11000% # * *



RollNo.[ | T T [ 1 1teSibueh
Computer Science S.S.C (10t)-A-2022 Wl
Paper : Il Group : |l Objective (s~ /33 ...;-,f n: z4
Time : 15 Minutes (i) 215 =J
Marks : 10 PaperCode |7 |8 (3|4 | Sey~&20220: J

Efeihl fkf%dmjw&mw;;&iwﬂﬁ.dﬁ
I, PR uf Ly

sDAC,B,AAZI KLy  —id

ek L LS 4 fsibelieti
Note: - You have four choices for each objective type guestion as A, B, C and D. The cholca which you think Is comect; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A Ui.»

Q.1 Questions/ =1l A B c D
ctaion” opd rud® S
1. b 1 2 3 4
if there are three return statements in the
function body, of them wili be
executed. .
i wdMbur P | A ST A =
2| The values passed to the function are | statements Arguments Indexes Variables
called P B\
W S/
P “char” U‘—’gfaiz_.—} il .rf‘h’/ﬁ;?'f.r | T
charcd() e fo:'-lll‘x o
3, { ) ’\“‘1,
et G \E\loﬂ/{ ’ Retum type Array Argument
} ~Lor”
in above functmn “char"is N
j !' 2 A ‘ff'J!]—ﬁJﬁfLJWH M j’f;: #5-“ 5‘:’!55
4. ) -.-_'..Llh'(
An “Jf ” statement inside ~an:ﬂher “ifrr Nested Boxed Repeated Decomposed
statement is called structure.
,q.kﬁ}ﬁfﬁlmﬂégégﬁ
5. | The index of first element of an aray is E 1 2 3
always:
bl i ol i bt
6. for(int i=1; i<=4; i++) 3 4 5 6
What is the final value of i after executing
the above code?
7 e A incude ikt o ,_,/ -~
Include Statements are written in Header Main Comments Print
?q..ung .?lj ,&Ju" PER AT
8. | Which operator has the highest / = > !
precedence among the given?
9 ,+EﬁdWIiLLfJ!¢( “%" A4l é/L (?J.-é-’)—‘:‘:) d’..u’? d'f
The operator “%” is used to calculate ___. | Percentage Remainder Factorial Square
10 .,4-&,:»-1.1: JHJ-)-H (lu?’ )JJJ_’} (_J":t J u}"-'-, .‘Ju!/é
| Conditional logic helps in Traversing Relation Decisions | lterations

127-222-A-15000 **




RoliNo.| | | | | | 1eeraptined
Computer Science 8$.5.C (Part-I)-A-2021 N
Paper : Il Group : | Objective (s g n s g
Time : 15 Minutes )] L2 15: =y
Marks : 10 | Papercode |78 [3] 1| swi-&4(-2/ 10:

=AY P A I.deu».f_,,azwm;ﬁumé‘.a;.:&i»&d;«,_,.;&#du&yaé.g.s Dal C,BAANZI WL irg  -2d
Mt ir? B2 A biLozar§ES 1S ek | LT 4 Fsivnhiert
Note: - You have four choices for gach objective type question as A, B, C and D. The choice which you think is comrect; fill that circle in front of that

question numbar in your

book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Qi

Questions/=liy

I

| A a8 c D
'.
4O b8 | ot g i b . s
L |
The diamond symbol repfesents the: [ inputioutput decision making processing remarks
Sl
2. 1963 AD 1976 AD 1972 AD 1970 AD
GW-BASIC was developgd in the year:
-q..JL-J-:kic.-: E}J&Id;:uﬁgﬁuéﬁ-‘id
3' The maximum length ofqvariabla name in GW- A 32 ; 40 45
BASIC is: )
= oy — |
AL P s L RN ©
NN
AN
4 | There are contfol structure/s used in ,-.:I_,«-; (&)™ 3 5 7
S 1 [‘\}_"
GW-BASIC. RN
CO )
S A i ﬁﬁ,-;éfﬂﬁdc’%ééhhﬂk é\f
- \1'. ‘\‘./ |
5. if-vi dio net kiow the ndmber of “3{.3\5‘5{"&9“1#3“ FOR....NEXT FOR... WHILE GOTO WHILE...WEND
‘,,\'.“'\ S
which loop is suitable? QA
e aef e alifaitioh
6. NUM (10) A(2) B(4) A(-2)
Which of the given is not & valid subscript?
S pb 4 =AUt LIST [4] P e NS g
7.
In LIST [4], the value 4 indicates: Array of elements Size of array Index Constant
a{d;q.wtfy;bﬁufipﬁd:)‘:frlfrat.ibg &l f"f"""‘?’ Jb J?r
P
B.
A large program can be divided into smaller parts Array Sub-program File Syntax
is called:
" . Jﬂ
A E fg{@xrk'.r_i JJ!U:...‘G,:‘.'}LE y 37 Jo o el !
9. The user-defined function in GW-BASIC is Procedure File Array Function GOsSuB
called:
e b LT Pl sl e B Ld
10. SCREEN PRINT LEFT § ABS

Which function changes

the way of displaying

output in BASIC?




« W

47 RollNo. [ | | | | | |/atied

Computer Science S.8.C (Part-1I)-A-2021 Futed
Paper : I Group : Il Objective Lf;;' l/n:..r:f II: g4
Time : 15 Minutes an o2 15:
Marks : 10 I PaperCode | 7 | 8 (3| 2 o 43-2 10: A
At | LMLz e ne Lo e bl iy n 4 Q00126 E &5 D st C B AMEL ALy, ki

Note: - You have four choices for

question number In your anr book. Use marker or

-‘ﬁ;.l';}“urrff u!ﬁ*{ﬁﬁ;!‘lji‘l—fu&f k Lf.a. !UJfbuLJﬁu{l Z

ch objective type question as A, B, C and D. The choice which you think Is comect; fill that circie in front of that

to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Quuﬂtlnw‘ally A B Cc D
1
The diamond symbol represents the: input/output decision making processing remarks
-ékt’/h_ru:fi;dd}f;ﬂugfd.}:im.ﬁAﬁu{Iﬂ ¥ ! =¥ L ""JJII
|
2 If two or more statements are written on a line, Colon : Semi Colan Comma Hyphen
they must be separated by a:
-"&'-*E'“' Cﬁ’/}‘:— ft‘{,k;i{j{l --'--_“'ﬁ';d 1 SFik L) ,f’;}i‘&@:ﬂj
| P st
3 | (O »
A variable name must start with: alphabet un_g____\) Cogé. digit alphabet or
S\
I LA under score
F -‘_"f -\ L
AL U1 FOR-NEXT g‘“‘fﬁ“ o S &z P
i~
FOR-NEXT is used to Implement: ) % n selection sequence decision
o
'/". <_\‘\:’.’-
<40
5. o) NEITHER AND + MOD
Logical operator is: ) \'i", ~
QI
,..g.....q,t(’ [ T f
6. Al-2) B (4) NUM (-10) A(-3)
Valid subscript is:
LS ,!:“fwfuﬁ-f—-af-g -:-«-‘-;;'.,.-' i (_-ég)l c.-rh.r.'-f_-f..
| 7. )
| An element of an array is nentioned by its: subscript array object name of element
i by .
g e TG
8. 2 3 4 5
Library functions are divided into____categories.
_+;;{d“6¢ﬁ_4$ru’.ij‘
RND INT ABS LOG
| & Which function returns the absalute value of
| exprassion?
I
l e Sr Sz ‘
10. 2 3 4 5
| The number of graphic mddes in BASIC are: {
| |
,l - 127-221-A-15000*




Computer Science " o H Lo B0 N0 A0V

Paper | (Objective Type) Inter ( Ist - A - Exam - 2024 )
Time Allowed : 20 Minutes Inter ( Part - 1)
Maximum Marks : 15 Session (2022 - 2024) & ( 2023 - 2025)

hd LW >4

QNo.1| Software that is designed to be used by general public for their business tasks is called :

Note : Four choices A,B,C,D to each guestion are given. Which choice is correct, fill that circle in front of that Question

Humbnr on the Objective Bubble Sheet.Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question,

(1) | (A)Operating System (B) Device Driver (C) Utility Programs (D) Packaged Software )

(3 ‘A Computer is connected to a LAN using: (A) NIC (B) Modem tC) Bridge (D) Router

(2) | The Protocol used by every Computer on the internet is :
(A) CSMA/CD (B) DSL (C) ISDN (D) TCP/IP

(4) {Image displayed on a Monitor Screen is composed of :
(A) Pixels (B) DPI (C) Resolution (D) Digital Points

(5) |Concurrent Flow of bits is done in : © \‘,{ 2
| (A) Serial Transmission (B) Parallel Tra;m\ri}i/sn\wrt
i (C) Synchronous Transmission (D) Asyn/chfprfeus Transmnssiq_:_:
(6) | The ROM is also called : 2 A
(A) Direct Access Memory {B) Kead / Write Mgsory & ..
(C) Non-Volatile Memory S0 j\\" j{D} Main Memory B N

(7) Product promotion, place ard price relates to:
(A) Marketing (B) Management (C) Office Automation (D) E - Commerce

(8) iThe 7-bit-ASCII Code can represent :

| (9) [The register used for Division and Multiplication is : (A)PC (B} MBR (C) DX (D) DS

bbb sl

(10) | For adding text in the top margin of every page in MS-Word we use :

(A) Header (B) Footer (C) Heading (D) Title

(11) : Add New Hardware option exists in :
(A) My Computer (B) Window Explorer (C) Control Panel (D) Start Button

(12) iIllegal copy of a Software is called (A) Software Piracy (B) Pirated Soﬂware (C) Virus (D) Antivirus :

(14) | The number of arguments in SQRT () function in MS F.xcel are: (A)1 (B)2 (©)3 (D)4

(13) | For the Custom Format # , ### , the number 1500 will be displayed as :
(A) 1,500 (B) 1500 (C) 0,015 (D) 0015

(15) | Every webpage on the World Wide Web is accessed using : |

(A) IP Address (B) Domain Name (C) Hyperlink (D) URL |
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Paper | (Objective Type) Inter - A - 2022
Time Allowed : 20 Minutes Inter ( Part - 1)
Maximum Marks : Session (2020 - 2022) to ( 2021 - 2023)
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Note : Foyr possible choices A,B,C, D to each question are given. Which choice Is correct, fill that circle in front of that guestion ‘
number.Use marker or pen to fill the circles, Cutting or filling two or more circles will result in zero mark in that question. ‘
QNo.1{ An Input Device which is used for playing Computer Games |
. @i (A) Light Pen (B) Mouse (C) Joystick (D) Scanner
(2) !Which of the fullowmg is the first phase of SDLC  :
___________________ - (A} Coding (B) Design (C) {'LI_!RIYBIE (D) Preliminary lnw-:atigatmn
(3) Which la}'er of DSI Model does Data Compressic:nm': --------------------------------------------------------------------------
T (A) Network (B) Presentation (C) Data Link (D) Phys:cal
(4) {Which of the following Network Topology use;.a Terminators
() Star (B) Mesh (C) Bes () Risg
(5) The process nf convemng Digital Signals into Analog\gvtgt:am is called : i
________________________________________________________________ (A) Demodulation (B) Msxdufanon (C) Conversion (D) Merging
(6) {How many Characters ASCII 8 - bit code n;:an’ represent ..................
________ __./3,‘5-\\.?'*’ (A) 128 (B) 256 (C) 512 (D) 300
(7) The process of pmducing multipleqﬁpi'ea of a document :;mcalled ¢ . 2
..-SA) Repmgraphics (B} Word Processing (C) Spreadsheet (D) Image Processing
(8) ;Data and Programs nnt currently being used by computer are stored in :
) | (A) Secondary Stnrage (B) Cache (C) Primary Memory (D) Register
9) Whrch of the following is not considered to be a pmpheraldewce lllllllllllllllll
HHHHHHHHH (A) Disk Drive (B) Keyboard (C) Monitor (D) CPU
(10) | The Program that contains instructions to operate a device is called
______________ - (A) Devme Drwer (B) Device Linker _I(S!I“Devme Operator (D) Debugger
(11) |A Virus which activates on certain Date and Time is called _
_____________ ; | {A) Loglc Bumb (B) Tro]an Horse (C} Redlof (D) Boot Sector !
(12) rTht*.' abllil:}r of opera;;;g system to run multiple programs at the same time is called |
(A) Multi Processing (B) Multi Tasking (C) Multi Pagmg (D) Segmentation
IIIII (13)‘W_1—uch function ke;:s used for checking Spelling and Grammer in MS - Word
.................... — .. 00 I 2 SO . .
(14) W'l'uch of the followmg is a Spreadsheet Software
(A) MS-Word (B) MS-Excell (C) Power Point (D) MS- Access "_
(15) |Which Software is used to search and view Web Pages
(A) HTMLI(B) Web Server (Cl Web Bmwser {D] Windows Explorer
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Paper | (Objective Type) Inter - A - 2021
Time Allowed : 20 Minutes Inter (Part -1)
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Note : Four possible chol%n A ,B,C,D to each question are given, Which choice is correct, fill that circle I front of that guestion
number.Use markey or pen to fill the circles. Cutting or filling two or more circles will result in zero imark in that question.

GNo.1§Which of the following is the largest unit of Data :

T T S — -

(2) %The Layer that is in between of Session and Application Layer is

: (A) Network Layer (B) DLL (C) Transport Layer (D)’ Presentation Layer
(3) QWhat type df Network is the Internet : (A) LAN (B) WAN () MAN (D) PAN

-

(4) E.What comes| after the Design Phase in SDLC

(A) Cudmg {B] Tesl.mg (C} Analys:s (D} Implementatmn

r"“

(5) EiDigitaI Signal represents a sequence Of ------=-e- valug\s 2/

oy

(A) Discrete. {Bi Cuntmuous (Cﬂl Unique (D) Bytes

A#%—.

(6) An importarjt characterlstlclnf RAM 15 thq,tqit “is
{A} Read Onl}rf glji‘ante Only (C) Volati[e [D} Non Volahle
(7) A --=---we-= i§| an automatic programkﬂb[e machine :

| |  (A) CAM (B) ROBOT (C) CAD (D) CBT

(8) 2Which of the fnliuwmg 13 the Insulation on a Fiber Optic Cable

(A] Sheathlng (B) Bra:dmg (C] Hou‘.pmg (D] Cladding

P T R T ST A T S, £ TN S e | T I,

{9} CU stands Em' 3 (A] Cache Umt {B} Cnntml Umt {C} Calculatmg Unit (D} Class Umt

(10) The letters "INT " in Windows NT stands for
[A} Not Tpsted (B} New Technology {C) Netwurk Termmal {D) Nttwnrk Technuiogy

{11} Fvery Webpage has unique address on the World Wide Web known' as
(A) URL (B) HTML (C) HTIP (D) Hyperlink

(12) A Virus that deletes all the Microsoft Office Files from the disk is talled
| (A) Chernobal Virus (B) Worm (C) Vaccine (D) Bomb

{11) The tool used to find a similar or alternative word in a document is called

(A) Finder (B) Dictionary (C) Style (D) Thesaurus |

(14) f;Th:a! intersecfion of a row and a column is called

(A) Intersection (B) Field (C) Cell (D) Address

VAL o, o, T TR PR AT 1T e TR AT S

(15) 'Which of th¢ following is a type of User Interface

(A) Dedign Interface (B) System Interface (C) Command Line (D) Chart Interface |

e = a m T a E w EERE mE e e T e e T A e e e e I TR T RS TR B T N L E R LY L T
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=

Note : Four possible cholces A B, C, D 1o each question are given, Which choice is correct, fill that circle in front of that question
number.Use marker or pen to fifl the circles, Cutting or filling two or more circles will result In zero mark in that question,

;iG.HoJ_EA collection of raw facts and figure is called 3 ;]

o _ (A) Data (B) Information (C) Processing (D) Procedure

i
i

L@ Capsl.ack is a it
{A} Toggle Key (B} ‘Wmduw Key {C) ‘vlodxfler l{ey {D) Cursor Control Ke}' |

e
{3} The I’hysrcal Layout of a net-work is known as

(Ai Topology (B) Session (C) Link (D} Style

(4) ‘A computer network in wluch all cumputers have equal status and no one have

cnntml over others : <T f} )

{A} I’eer to Peer (B) Cllent Server (Cj [jedlcated (D) Client to Client

T L e T -y -\.,- .................................

() ’Frequency is measured jn (M S’%t?gnds (B} BPS (C) Hertz (D) Amps |

(6) The process of converting a digital s alto an analog slgnal is called
E (A) Modulat:q:!\"[ﬁ} Demodulation (C) Conversion (D) Merging

ST SRS S e AL P .\.-\ f' B e o b e e - P b

(7 5Wh1ch of the EnIlowmg is | ﬁhbdn example of E- Commerce y
E{A] Electronic Bankmg [Bjmlectromc Shopping (C) Online Chatting (D) Online Education

e e s e e o s e e

(8) fRAM holds the data/ instruction
| (A) Temporarily {B) Permanently (C) Partially {D) Casaally

i (9) iW'!uch Reglster holds the address of next instruction to be fetched for execution
(A) MAR (B) MBR (C) IR (D) PC

— e e oo i s S S ety O S S PP ——

ﬂﬂ] ‘A Virus that replicates 1tse1f is called

N

{ﬁh} Bug {B} Worm (C} Vaccme {D) Bomb

(11] 'Whlch of the followmg is not cause of Virus : 1
' (A) E-mail (B) Networks (C) Pirated Software (D) Logic Bomb '

s s e B a—mai e 1 p—— sma-mni

(12} An Gperanng System is a

l

(&} System Uhht}' (B} Application Software (C) System. Snftware (D) Sofhvare I’ackage

S U=, |

(13] Page Setup Option is available in which menu
' (A] Format (B) Insert {C] Ed.‘l.t {D] File

{14] .Wluch ﬂf the gwen 13 a correct Cell Addtess N (A) AA (B) ?_'i (C) SB (D) Cs___

: (15) | How many types of Addressmg Scheme are used on the Internet
A . w3 2 © 5 @ 8

v --.ﬂnn..n.u-r_‘ R
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i
] Note : “Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in frant of that question
i number.Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
1
QNo-1/A collection of related Web Pages is called
i
I

lllllllllllll (A) Inte_rrtetl_{li} Web Server (C) Hyper Links (D) Website
(2) lln Spread - sheet, bydefault rows are labeled by

..............................

5 - (A] Letters (B} Speclal Symbols (Cl Numbers (Dl Underscore Sngn

L — 4._.__‘

(3} Whlch of the follow:ng can be used to launch the Word Art
(A) Status Bar {B) Ruler (C’} Standard Toolbar (D) Drawing Toolbar

(4) Whrch of the followmg contains the adm:mstratwe tools in operating system

! (h) Control Fanel {B) Internet Ex lorer (C) Recycle Bm {D} M Document Folder
- L ;s a "

S
(5 A person who gains illegal access to a computer sy%tem is called
': _(A) Robot (B) Pirated Softwareé (ﬁ)@omputer Program (D) Hacker
e ﬁ?*‘_ ‘h-L smnien

(6) ’Whlch of the followmg is not an Antwmq&?rogram
{A) MeAfee ,\{E}f Nod 32 (C} Redlof {D} Dr Solomon
N

b e b b

fve v e e e s s i

|
1 -
l
i
I
I

(7 The term that refers to all mput \qntput and secondary storage clevu:es is called
(A) Networkd’opnt (B] Pernpheral [Cl lnternal Memorg,r (D} Port
(8) iTemporary Storage Al;egl uhthm CPU is called

¥ (A) ROM (B) RAM (C) Register (D) Hard Disk
(9) Whleh one is an Autnmatre Programmable Machme

(A) Mouse (B) l(eyboard (C) CD - Drive (D) Robot

e e R

A communication signal in the form of a Continuous Wave is called
(A) Digital Signal (B) Analog Signal
| (C) Binary Signal (D) Dlscontmuous Electncal Slgnal_‘_. e

—_—
-
=

e e = mmipamnm

(11) l’hysrcal Path that connects the source and receiver is known as

.= {A] Commumcatmn Channel {Bl Decoder (C] Encoder {D} NlCCard -

.........

(12) One or more computers connected to a hub is called

{ ; (A) Ring Network (B) Star Network (C) Bus Network (D) Mesh Network

e e 4 480 5 4 T ——

(13) A Device that connect multiple networks using similar or dlfferenl protocol is a
A} Router () Budge () Citeway (B Repeater
(14) Testmg All Modules of Programs together is called

(A) Volume Testing (B) Program Testing (C) Composite Testing (D) System Testing

‘ (15) %Whlch of the following is an example of System Software

(A) Spread - sheet (B) Text Editor (C) Operating System (D) MS - Word
.................. NN . . Y st R, b= xR AU S - . (Nt e 22
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11" CLASS — 1* Annaal 2023

COMPUTER SCIENCE TIME: 20 MINUTES

MARKS: 15

' OBJECTIVE
NOTE: You have four choices 1or each objective type question as A . B, C and D . The choice which

you think is correct , fil! that circle in front of that question number. Use marker or pen to fill
the circles. Cutting or filling two or more circles will result in zero mark in that question.

QUESTION NO. 1

1 | Unicode uses.

(A) 4-bit (B)8-bit (C)12-bit (D) 16 -bit
2 | Which value in start bit indicates that the transmission line is idle 7
(A) 0 (B)1 (C) 2 (D) 3

3 | CBT software is mostly used in

(A) Education (B) Farming (C) Forecasting (D) Planning

4 | Cache memory works between

"

(A) RAM and ROM (B) RAM and Hard disk?%)
(C) CPU and Hard disk (D) CPU and RAN\ e}.(_l-ﬁ |

5 | Which of the following has the fastest speed %05

(A) RAM (B)ROM (C) Cache . () Bisk

6 | Which register has special role in di\gi@gﬁ»%fmd multiplication ?

(A) AX (B) DX (O BXY () X

7 | McAfee is an example of ¢ {1;?

(A) Antivirus ~ (B) Vi;:géi‘?‘((:) Worm (D) Spyware

8 | AU files deleted from computer are sorted in

(A) Sys-tray (B) Temporary Files  (C) Recycle Bin (D) My documents
9 | How many orientation types are available in word ?

(A) Four (B)Three (C) One (D) Two

10 | The columns in a spreadsheet are labeled by

(A) Numbers (B) Letiers (C) Cell references (D) Different values

11 | The symbol that separates different parts of a an e — mail address is

(A) § (B) # € @ (D) %

12 | Which is the correct association between hardware device and component type ?

13 | Which one of the following is the largest unit of data ?

(A) Kilobyte (KB) (B) Megabyte (MB) (C) Terabyte (TB) (D) Gigabyte (GB)
14 | The top most layer of the OSI model s

(A) Application (B) Presentation (C) Session (D) Transport

15 | Every device has exactly two neighbours in

(A) Bus topology (B) Ring topology  (C) Star topology (D) Mesh topology

(A) Mouse - Processing  (B) Hard disk —~Out put  (C) Keyboard - Input (D) CPU - Storage

113 - (Obj) - 1™ Annual 2023 SEQUENCE -2 ( PAPER CODE — 6833 )




PAPER CODE - 6831
11™ CLASS — 12022

COMPUTER SCIENCE 7 TIME: 20 MINUTES
' - MARKS: 15

OBJECTIVE
o Dagaay

NOTE: You have four choices for each objective type questionas A , B, C and D . The choice which
you think is correct , fill that circle in front of that question number. Use marker or pen to fill”
the circles. Cutting or filling two or more circles will result in zero mark in that question.

" QUESTION NO. 1

1 | Temporary storage within CPU is called

1(A)RAM (B)ROM  (C) Register (D) Hard Disk

2 | Which is NOT an output device ?

(A) Speaker (B) Scanner (C) Printer (D) Plotter

3 | The physical layout of computer is known as

(A) Topology (B) Session (C)Link (D) Style
4 | The top.most layer of OSImodel is < N 2)

(A) Application (B) Presentation  (C) Tra.nsport (D) $ﬁss:0n
5 | Select unguided media from the following Pox, ’-.,. S )

(A) Twisted pair (B) Fiber optics (C) Salte:]l;ut::1 ’ﬁB) Co-amal
6 | Digital Signals are commonly known as G \: >

(A) Broadband (B) Baseband (C) Narrawband (D) Wideband

7 | Which facility many banks provide 1\

1(A)CAD  (B) CAM (C) ATM; D) CBT

8 | Which component of CPU mtcm;:’ts with primary memory

(A) ALU (B)CU (C)BUS (D) USB

9 | Program syntax error are detected by

(A) Compiler (B)Debugger (C) Loader (D) Linker

10 | How many types of language translators are

A) 1 B 2 (© 3 (D 4

11 | The right of person to keep his personal information away from other is called
(A) Privacy (B) Private (C) Secrecy (D) Right

12 | All files deleted from computer are stored in

(A) Sys-tray (B) Temporary File  (C) Recycle Bin (D) My document
13 | Bitmap graphics are......... pictures.

(A) Printed  (B)Line (C)Curve (D) Solid

14 | A workbook is group of

(A) Many rows  (B) Many column  (C) Work sheet (D) Manu

15 | Copying data from Internet to computer is called

(A) Uploading (B) Downloading (C) Transferring (D) Moving

113 (Obj)-12022-60000 SEQUENCE -1 (PAPER CODE -6831)
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NOTE: You have four

QUESTION NO. 1
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TIME: 20 MINUTES

MARKS: 15

OBJECTIVE

hoices for each objective type question as A , B, C and D . The choice which

you think is ccjrect » fill that circle in front of that question number. Use marker or pen to fill
the circles. Cut?ing or filling two or more circles will result in zero mark in that question.

f
i

1

10

11

12

13

14

15

Hardware is best dl scribed as

(A) Physical part | (B) Printed copy file (C) Logical part (D) Program
GB is approximately

(A) LOOOKB (B)1024MB  (C) 100 TB (D) 1024 KB

Which of the following is a communication device ?

(A) Ethernet (B)UTP (C)USB (D) Router AN
How many types of network standards are there ? -"&--.'Q': 2/
(A4 (B)6 [(©O2 D)8 P\

Which of the follojing transmission media is used i?LAN ?

e =

(A) Telephone line|  (B) Microwave  (C) Coaxial able (D) Satellite
Select unguided mgdia from the following ) jff":}\“’

(A) Twisted pair | (B) Satcllite I(Ipiﬁg‘bér optic (D) Coaxial
Many Banks provide the facility of _. I S

(A)ATM  (B) CAM (C)_,ggiﬁ.'“‘” (D) CAD

The program that contains irg\@i;‘cﬁon to operate a device is called

(A) Device operator  (B) Device system  (C) Device linking (D) Device driver
Which memory is ysed to speed up the computer processing ?

(A) ROM (B) Cache (C)BIOS (D) HDD

Which of the following is a biometric technique for person identification ?
(A) Accesscard |(B) Password  (C) Finger print (D) PIN

A small image that represent a program , Instruction or file is called

(A) Menu (B) Dialog Box (C) Window (D) Icon

The Interface used by DOS is called

(A) Command line| (B) System (C) Graphical user (D) Design
The tool used to a similar or alternative word in a document is called
(A) Finder (B) Thesaurus  (C) Dictionary (D) Style

A formula in MS-Ekcel always begins with

A > @ = €) = D) <

Which software is 136(1 1o search and view web pages

(A) Window explorer  (B) Web server (C) HTML (D) Web browser

| 113 (Obj) — 12021 - 60000 SEQUENCE — 1
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OBJECTIVE

NOTE: You have four choices for each objective type questionas A , B, C and D . The choice which
you think is correct , fill that circle in front of that question number. Use marker or pen to fill
the circles. Cutting or filling two or more circles will result in zero mark in that question.

QUESTION NO. 1

| | Data shown on display unit or played through audio is called

(A) Hard copy (B) Soft copy (C) Shared copy (D) Photocopy

2 | Printed images can be converted into digital form using

(A) Stylus  (B)Mouse  (C) Scanner (D) Joystick

3 | Which one connects two similar networks ?

(A) NIC (B) Bridge (C) Gateway (D) Router

4 | De Jure means

(A) According to law  (B) Existing facts  (C) Historical E}Je,nts (D) By nature
5 | Analog signals are measured in t rcd NG

4

(A) Volt (B)Herts (C) Digits (D) Watts ’:?\“‘ oY
6 | The communication channels can be divided into/’ i:)
(A) Two types (B) Threetypes (C) Fawzf?ﬁes (D) Five types

7 | The fly-by-wire system is used in Q¢ ANS

(A) Education  (B) Medical (C}indﬁstry (D) Airline

8 | The program that contains the. m@m‘thons to operate a device is called

(A) Device Driver  (B) Dev}ce Operator  (C) Device System (D) Device Operating System
9 | CPU sends command signals through

(A) DataBus  (B) Address Bus (C) Control Bus (D) Expansion Bus

10 | Which one of the following is not a cause of virus ?

(A) Pirated software  (B) Email (C) Network (D) Logic Bomb

11 | A virus that replicates itself is called

(A)Bug (B) Worm  (C) Trojan Horse (D) Boot sector virus

' 12 | A small image that represents a program , folder or file is called

(A) Menu (B) GUI (C) Command (D) ICON

13 | We press Enter key in MS-Word to create a

(A) Line  (B) Sentence (C) Paragraph (D) Document

14 | A work book is a collection of

(A) Tables  (B) Formula (C) Sheets (D) Functions

15 | The length of IP address is

(A)8bits  (B) 16 bits (C) 24 bits (D) 32 bits

113 (Obj)-12018-60000 - (NEW) SEQUENCE -1



